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B.S¢. (CBCS) DEGREE EXAMINATION, APRIL 2019.

Time ; Three hours

Third Semester
Computer Science — Allied

WEB TECHNOLOGY
(For those who joined in July 2017 onwards)
Maximum : 75 marks

SECTION A — (10 % 1 = 10 marks)

Answer ALL questions.

Choose the correct answer !

An international hypertext system that links
together millions of documents

(@) WWW (b) HTML
¢y HTTP (d) SMTP.

provides datagram-oriented

communication.
(a)y UDP ta) RGP
(e HIERR ) FTE.

2T A SRR I
Sub. Code : SACS 31

=1

Web 18 made up of documents created with a
languapge called

(a) HTTP (b} HTML

() HTRL (dy HITTL.

A hot lext 13 created by —— tag.
(a) title (b) l head

(¢} anchor (d) prologue.

Which operator to be used connect two strings?
(a) + b} &
ey = (d) and

Statement used to terminate the current iteration
in the while or for loop.

(a) break (b} continue
(e) exit (dy loop.
DODM stands for

(1) Document Object Model
{b) Document Object Mail

()  Dacument Object Mean

(d)  Document Ohject Method.
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10.

How do you write “Hello World” in an alert box?
(a) wmegBox (Hello World™)

(b) alertBox (‘Hello World")

(c) alertBox = “Hello World”

(dy alert (‘Hello World™).

What will be the output of below mentioned code
snippet?

<p style = “color : red">text</p>

(a) make that specific parag raph red
(b) error

{c) nothing happens

(d) none of the mentioned.

The —— allow to sort the dala in
Tabular Data Control.

{a} sort property
(b) sort () method
{c) ascrot () method

(d) none.

Page 3 Code No, : 41406 E
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12.

13.

14.

SECTION B — (5 = 5 = 25 marks)

Anawer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words,

(a)

{b}
(a)

(b)

(a)

(b)

(a)

(b)

Describe protocols.

Or

Describe SMTP.

Explain DTD elements.
Or

With suitable example explain frames.

Explain if...... else statement in JavaScript
with an example.

O

Explain functions in JavaScript.

Explain Document object in JavaScript.

Or

Write a JavaSeript that reads five integers
and determincs the largest and the smalles
integers in the group.

Code No. : 41405 E
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16.

18,

19,

(b)

Describe the advantages and disadvantages
of C385.
Or

Explain transitions.

SECTION C — (6 x 8 = 40 marks)

f\nswer ALL questions choosing either (a) or (b).
Fach answer should not exceed 600 words.

(a)

(b)
{a)

(b)

(a)

(h)

(a)

{b)

Describe in detail the web conecepts.
Or
Deseribe Email protocols.

Explain formatting tags in HTML in detail
with example.

Or
Explain hyperlinks in detail with examples.

Digscuss the various operators in Javaseript.

Or

Explain in detail the looping statements in
JavaSeript,

Discuss Window ohject in JavaScript.

{r

Explain Form Object, Text boxes, Text areas
in JavaSeript.
Page 5
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20,

(a)

(b)

lixplain the four ways of adding styles to 4
web page in detail.

Or

Deseribe the position property of €SS with
its syntax and examples,
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B.Sc. (CBCS) DEGREE EXAMINATION, APRIL 2019.
Fourth Semester
Computer Science - Allied
- COMMERCE
(For those who joined in July 2017 Onwards)
Time : Three hours Maximum : 756 marks
PART A — (10 ¥ 1 = 10 marks)

Answer ALL questions.

Choose the correct answer ;

i is concerned with buying and selling
information, products and services over the
internet.

(a) Commerce
(b} E-Commerce
(¢} E-Business

(d} Internet

Which of the following protocol is reasponsible for
transferring and displaying web pages,

(a) HTTP

(b)  IITML

o T T

tdy | POPEP

Businegs selling to local, state and federal
agencies 18 known as business model.
(a} B2U

(b} G2ZB

(¢} B2G

) G2G

are used to achieve high value
integration without hierarchical control.

{(a) Auctions
(b) Aggregators
(¢) Content

(d)y Alliances
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Who spends a good deal of ume online, mainly at
theiwr places of business.

(a) evher buyers
(k) cyber consumers
{c) cvbher surfers
() mnone of the above

————— describes the accelerating benefits of
a positive feedback loop.

(a) H-care
(b) H-mail
{c)  Afliliate network

{d) Spiral

15 a hacker can use to enter a system,
scarch for passwords and nstall software
programs to allow remote control of the computer.

(a) Baeck door
(b} NASDAG
(¢}  Guesses

(dy PEM |
Page 3 Code No.:41406 E

10,

18 a software or a hardware used to
isolate and protect a private system or a network
trom the public network.

{a} Intrusion detection
{(b) Firewall
(c) Password

@)y Virus

[n bank, kev 15 used for Encrvption.
(a) Public

(b) Private

e} Secret

{d} None of the above

In digital signature algorithm i1s used

to caleulate a message digest.

(a) RSA
(by DES
(c) AES

{d) Both'(a) and (h)
Page 4 Code No. : 41406 E
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11.

bl

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either {a} or (b).

(a)

()

(a)

(b)

(a)

(b)
(a)

(b)

Explain emergence of the internet as an
E-Commerce.

O

How BE-Commerce provides opportunities to
various industries?

What arve the advantages of B2B model?
Or
Write a short on different kinds of

ageregator models,

Write about traditional marketing and its
problems.

O
Explain spiral branding with example.

How to secure over K-mail? Explain the
various methods to secure E-mail.

Or

What are the significant features of firewall?

Page 5 Code No. : 41406 E

15.

16.

18.

{a)

(b)

(@)

(b)

(a)

(b)
(a}

(b)

———————eeAmmmeS

Explain micro payment system with suitable
example.

Or
State the features of E-banking in India.

PART C — (5 x 8 = 40 marks)

Answer AlL questions, choosing either {a) or (b).

What are the advantages of E-Commerce?
Kxplain,

Or
Write in detail about origin of world wide
web.

Briefly explain about business-to-consumer
maodel.

O
Discuss brokerage model.
Explain online marketing.

Or
Discuss marketing strategies with suitable

example.
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19.

(b)

(a)

(b)

Explain security risks associated with a
network and a website.

Or

Discuss security premises on physical
infrastructure.

Explain in detail about E-Banking at ICICI
Bank.

Or

Discuss different kinds of methods of secure
E-Payment process.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Fifth Semester

Computer Science / Software Engineering — Main

DOT NET TECHNOLOGIES
(For those who joined in July 2016 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer:

1. The software that requests files, data and services
(a) FTP
(b) HTTP

(c) Web Client
(d) Web Server

Data that cannot be modified once defined in a
program.

(a) constants (b) wvariables
(c) operators (d) string
are required when the user of the web

application expects a meaningful response to a
query issued from an HTML form.

(a) code behind (b) round trips
(¢) View State (d) Objects

Visual appearance of
shared properties.

(a) HTML Controls (b) Web Controls
(c) Validation Controls (d) Datalist Controls

—— are controlled by

are structures that allow for insertion
of elements at one end and removal of elements
from the other.

(a) Stacks ; (b) Arrays
() Queues (d) Hash tables

Which function handles pushing and popping
phrases onto and off of the stack?

(a) AddPhrase() (b) Peek()
(¢) Pop() (d) Push()
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B AR TSR —————_—

10.

. {¢) asax

The run  time environment for the NET
Framework is called

(a) Internet Information Server
(b) Common Language Runtime
(¢) NET Framework Class Library
(d) Managed Components

Classes of Web Services are contained within a
file.

(b) ascx

(d) asmx

(a) aspx

An arcane process known as retrieves
data from a virtual terminal session with the
mainframe.

(a) Screen Scraping

. (b) Scrap file

(c) SQL

(d) API

The area in which the user accounts database may
live is on a machine called

(a) Local user accounts

(b) Primary Domain Controller

(¢) Access Control List

(d) Security Identifiers.

Page3 Code No.:40382 E

11.

12.

13.

14.

PART B — (B X 8 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

- Each answer should not exceed 250 words.

(a) List the components of ASP.NET and the
NET framework.

Or

(b) Describe the characteristics of variables in
VB.NET.

(a) Discuss the features of ASP.

Or
(b) Explain AdRotator Control with its syntax
and properties.

(a) Brief on the common data set types in Data
~ collections.

Or

(b) Write about the providers that can be used
with Active Directory Services.

(a) Explain on the overview of transactions.

] Or
(b) Describe the need for Web Services.

Code No. : 40382 E
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15. (a) Discuss ADO.NET: The Next Generation of

®)

Data Access Technology.

Or

Explain Windows Security.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
()
17. (a)
(b)
18. (a)
(b)

Explain the Web Client/Server model.

Or

Explain the different operators used in

' VB.NET.

Explain the Anatomy of ASP.NET.
Or
Explain ASP.NET Page Directives.

List the properties and methods of the
FileSystem Watcher Class.

Or

Explain in detail Using Message Queues.

Page5 Code No.:40382 E

19.

20.

(a)

(b)

(@)

(b)

Explain the Common Language Runtime.

Or

Discuss the Web Service Wire formats of in
detail.

Explain how to filter and sort data with the
Data View Class.

Or

Describe 1IS Authentication and
Authorization Security.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

First Semester
Computer Science/Software Engineering
DISCRETE MATHEMATICS
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-~
{

Time : Three hours ' Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL the questions.

Choose the correct answer :

1 is relaton R on a set A is
symmetric if whenever (a,b) ER Then (b,a) ER.
(a) Reflexive (b) Synimetric

(¢) Non reflexive (d) Irreflexive



A relation is : if no two distinct
points in the diagraph have an edge going between
then in both directions. :

(a) Reflexive (b) Transitive

(c) Antisymmetric (d) Symmetric

The inverse of the exponential function is called

the function.

(a) Irrational (b) Rational

(¢) Logarithm (d) Exponential

The floor function is often also called the
function.

(a) Smaller integer (b) Greater integer

(c) Simple integer (d) Complex integer

A proposition consisting of only a Single
Propositional Variable is called

proposition.

(a) Composite (b) molecular
(¢) atomic (d) Compond
The normal forms also called as
forms

(a) Conjuntion ~ (b) Disjuction
(¢) Canonical : (d) Complex

Page2 Code No.:40602 E
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The numbers aii, a12,.... 8am Constituting m x n
matrix are called

(a) wvalues (b) properties

(c) elements (d) domain

8- - if aij = 0 for all i) and aii=C then its called
: matrix.

(a) Square (b) Row
(¢) Null (d) Scalar

9. A Graph consists of set of -

(a) Order () Lines
(¢) Arc - (d) Vertices
10. An graph consists of set of Vertices

and a set of edges such that each edge 18
associated with an unordered pair of Vertices.

(a) Directed () Undirected
'(© Unidirected @) Bidirected

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Prove that if. a Relation R on set A is
transitive and irreflexive, then it 1is
asymmetric.

Or
Page 3 Code No.: 40602 E



12.

13.

14.

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Let R be the Relation represented by the

el .
matrix M,=/1 0 1 find the matrix
[ (S

representation of R™ andR .
Define functions and its terms.

Or

Show that if (x,y) = x¥ is a primitive recursive
function.

Write short notes on Connectives and
Negation.

Or

Prove that the following propositions are
tautology. ;

i) pv~p (i) P = (pva)
List out the properties of Matrix addition.

Or

By using elementary row transformation find

finag
the inverse of the matrix 4= [3 ?]

| Page4 Code No.: 40602 E
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15. (a) Find the degree of each vertex of the
following graph.

A Vi
Vb

'}
Vs 5

Or
(b) Discuss about Sub graph.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Explain the types of Relations in a set

Or
(b) LetR and S be relation from A to B show that

G) if ReS,theR' S
@) (RS =R'ns”

17. (a) Write detail notes on classification of
functions.

Or
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18.

19.

20.

()

(a)

(b)

(a)

(b)
(a)

(b)

Show that function f(x,y)=xty is primitive
recursive function. Hence compute the value
of f(2,4).

Discuss about Drived Connectives.

= 0r

Obtain the Conjuctive normal form of the
following.

® pr(p=9q)
) [gv(p Al ~[vr) Aq]

Solve, with help of matrices

x+2y+3z=4
x+4y+9z=6
xty+z=3

Or

Explain the properties of Inverse of matrix.

Discuss about types of graphs.
Or

Write detail notes on operations of graphs.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Third Semester
Computer Science / Software Engineering — Main
JAVA_PROGRAMMING
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
1. Literals can be of which of these data types?
(a) Integer .. &) Float

() Boolean (d) = All of the above



An array elements are always stored in
memory locations.

(a) Sequential

(b) Random

(¢) Indexed Seque ntial
(d) Hash

What is the return type of a method that does not
returns any value?

(@) int (b) float
(¢) wvoid (d) double

Which of these keywords is used to refer to
member of base class from a subclass?

(a) Upper (b) Super
(¢) This (d) Extends

Which of the following keywords is used for
throwing exception manually?

(a) . finally (b) try

(¢) throw (d) catch

Page 2 Code No.: 40586 E



10.

Which of these method wakes up the first thread
that called wait()?

(a) Wake () (b) Notify ()

() Start () (d) NotifyAll ()

— Yunction is called to display the

output of an applet

(a) Display () (b) Paint ()

(¢) DisplayApplet () (d) PrintApplet ()

Which of these methods will respond when you

click any button by mouse? :

(a) MouseClicked ()

(b) MouseEntered ()

(0 MousePressed ()

) All of the above

—  methed is a part of Abstract window

Toolkit (AWT)? \

(a) Display () (b) Paint ()

(¢) Drawstring () (d) Transient ()
operator can be used to get run time

information about an object

(a) getinto (b) info |

(¢ instanceof (d) getintoof
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Fil

12

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(@

(b)

()

(b)

Explain Type Conversion and Casting.
O
Discuss about Class fundamentals.

Explain Argument passing with sample
program. ;

Or

Discuss about static.

Write notes on Access protection.
Or

Explain the uses of throws clause with a
sample program.

Explain the skeleton of an Applet.

Or

Explain the sources of Events generation.

Page4 Code No.:40586 E
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15. (a) Explain the methods when working with
frame windows.

Or

(b) Write about Text Area with a sample
program:

PART C — (5 x 8 = 40 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Discuss in detail about variables.
Or |
(b) Explain the fundamentals of methods.
~17. (a) Explain the following
(i)  Access control
(i1) Nested and Inner classes.
Or
(b) Explain the uses of super.
18. (a) Discuss in brief on Interfaces.
Or
"(b) Explain the Java Thread Model.
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19,

20.

(a)

(b)
(@)

(b)

Explain the parts of HTML APPLET tag.
Or

Explain any four Event Listener Interfaces.

Explain any two methods when working with
Graphics. :

Or

Explain about Layout Managers.

Page 6 Code No.: 40586 E
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Fourth Semester

Computer Science — Main

RELATIONAL DATABASE MANAGEMENT SYSTEM

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  The overall design of a database 1s

(a) Physical schema (b) Logical schema

(¢) Schema (d) None of the above

2. A relational database is based on

(a) Network model (b) Hierarchical model

(¢) Relational model (d) All the above

- command 1s used to remove the
relation from the SQL.

() DROPTABLE (b) DELETE TABLE

(c) REMOVE (d) All the above
———— value signifies, that the value is
unknown.

(@) Null value (b) Domain value

(¢) Atomic value (d) None of the above

—— symbol can be used in the select clause
to denote all attribute.

(@ (b) *
() / (d) all the above

clause causes the tuples in the result of
a query to appear in a sorted order.

(a) group by (b) order by

(¢) ascordesc (d) none of the above

A sub class with more than one super class is

(a) derived classes (b) sub classes

(¢) shared classes (d) all the above

Page 2 Code No. : 40592 &




10.

9NTF is based on

(a) full functional dependency
() functional dependency
(c) multivalued dependency

(d) all the above

sequence.

(a) MODIFY SEQUENCE
(b) ALTER SEQUENCE
(¢ UPDATE SEQUENCE

(d) All the above

A function is

(a) Return a value

(b) No return value

(¢) May or may not return value

(d) None

Page 3 Code No

command can be used to modify the

. 140592 E

11.

12.

13.

14,

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

@)

(b)
(a)

(o)
(a)

(b)

Explain data abstraction in detail.

Or

Write in detail about data manipulation

languages.

What are the components (parts) of SQL?
Or

What are basic data types in SQL?

What is the use of where clause? Explain.
Or

Write short note on Natural join.

What is specialization? Give example.

Or

Explain the concept of Inheritance.

Page4 Code No.: 40592 E
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16. (a)

(b)

What is the purpose of using DESCRIBE
command? ‘

Or
Explain PL/SQL block structure.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(b)
18. (@)
(b)

What  are the disadvantages of database
system?

Or
Explain :
(i) Data storage
(i) DBA.

Explain the concept of schema. Give
example.

Or

Explain relational operations with example.

Explain set operation. Give example.

Or

What are nested subqueries? Give example.

Page5 Code No.:40592 E

19.

20.

(a)

(b)

(a)

(b)

Explain :
@i 2NF
(i) 3NF.
Or
Explain  functional dependency with
example.

Explain how to modify table. Give example.

Or

What are stored procedures? Give example.
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B.5e. (E‘JB(‘JS} DEGREE EXAMINATION, APRIL 2019.
| Third Semester
Computer Science — Main
JAVA PROGRAMMING
(For those who joined in July 2017 onwards)
Time : Three hours Maximum ; 76 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. The method having same name as that of it's class
is '
(a) class (b} object

(c) finalized (d) constructor

2. Which method can he defined only onee in a
program 187
(a) static method
{c} main method

(b) private method
{d) finalize method

can be overloaded.

(a) methods -
(b} constructors
(e} arthmetic operators

(d) all the above

The keyword , muslt be used to inherit a
class.
(a) super (k) this

(¢) extent (d) extends

————— 18 not a part of exception handling.
{a) try (b) finally
(e} thrown {d) catch

Thread priority in Java is

{a) integer (b float

{e) double (d) long
Event class is defined in

(a) java.io (b) javalang

{c) Java.net (d) java.util

MW



10.

Which of these methods will respond when you

click any button by mouse?

(a)
(b}
(c)
(d)

Mouse Clicked ()
Mouse Entered ()

mouse pressed ()

All the above

AWT expand

(a)

(b}
(¢)
(d)

Applet Windowing Toolkit
Abstract Windowing Toolkit
Absolute Windowing Toolkit

Abstract Window Tool

Which object can be constructed to show any

member of choices in the visible window?

(a)
(b)
(c)
{d)

Labels
Choice
List

Checkhox

Page 3 Code No.:41391 E

11.

12,

13.

14.

PART B — (A 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a)

(a)

(b)

(a)

(b
(a)

(b

Deseribe the type conversion and casting
features in Java.

Or
What are Data types? Explain the primary

types with examples.

What do you understand about static and

final explain.

O
Discuss about check box in AWT.

What are
pratection with examples,

packages? Explain access

Or
What are interfaces? Explain.
IMustrate passing parameters to applet.

Or

Write about event Listener interfaces.

Code No. : 41391 E
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15.

16.

f B4t

18.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Describe the use of flow lavout.

Or

INlustrate the Graphic features.

PART C — (5 » 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Explain the class fundamentals with

examples.

Or

Deseribe constructors with an example
program.

Write a java program to demonstrate
argument passing and returning objects.

Or

Write a java program for multilevel
hierarchy and discuss.

Explain the features of exception handling.

Or

How to create a thread and multiple
threads? Explain.
Page5 Code No.:41391 E

(a)

(b}
(a)

(b)

Explain :

(1) Applet display method

(i) HTML APPLET tag.
Or

Deseribe event classes. Give examples.

Explain the features of AWT controls.

Or

Describe AWT classes and the features of
frame windows, color and fonts.
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B.5c, (CBCS) DEGREE EXAMINATION,
APRIL2019.
Fourth Semester
Computer Science  Main
VISUAL BASIC
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10'% 1 = 10 marks)
Answer ALL questions.

C:hoose the vorrect answer:

1. The property of the text box that is dizplayed at
runlime 1s the:
(a) Text
) Caption
fc) Label
() Value

b

]|

User defined data type structure can include
— arravs.

(a) Statie

(b)Y DPDynamic

{e) Both {a) and (b)
{d} Control

shorteut key i1s used (o create

METI.

{a) Cirl+E

() AL+ B

(¢) Crel+ M
(d) Alp=M

MDI forms ean’t contain object other than
{a) Child forms

(h) Projeet form

(¢) Module form

() None of the shove

What will pass the jub quere processes?
(al DBSylpass

(b) ADO

() RDO

{d} Nome of the above

Page 2  Code No, ; -‘ilﬁii ﬁq ;



6.

10.

Which below is specified by Lhe Data member

property?

{a) Cunnection object
J

(h) Data Adopter objecl
(c) Database freld
(d) Database fable

AN is the high-level interface to-
(a) OLEDB (b} RDQ
(c) ONDBC () MDI

s the combination of data and
characteristics in single package.

{a) Encapsulation () Inheritance

(d) Object

(¢) Polymorphsim

iz alsn ealled as container.

by ADO control

A—
(a) ActiveX control

(¢) OLE control

(d) Form control

control dizplay curvent directory

with any sub directarics and allow the user lo
change directory.

(b) Drive lisl box
(d) All of the above

() TFile liat box

(¢) Directory hist

Page 3 Code No.:41391 K

1:3.

14.

PART B — (5 = 5 =25 marke)

Answor ALl questions, chovsing either (a) or (h).

Kach answer should not exceed 250 words.
(a) Lixplain different types of arrave in visual
hasic with one example.
{

(by What 18 OOP? Explain object. cvent qnd
properties with example,

(1) Explain the advantages and disadvantages of
ueing graphic methods.

Or

(h) What is Menu? How to create menu in V137

(a) Deline data, mformation and database.

Che

() Explain ADO data hound control and ADO
control event.

{a) How to automale objeet using OLICY
(y
(b) Discuss the fealures of OLE,

Page 4 Code No.: 41394 E
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15, (#) Whatis difference between list and troe view.

Or
(b) Kxplain OLEDB provider.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, chooging cither {2y or (h).

tach answer should not exceed 600 words.

16.  (a) Differentiate Msghox ( ) function and

statement.
Oy
(b) Write in detail about control flow statement.
I7. (a) Dilferentiate hetween datagrid and flex grid.
Or
(b) How to create menus in VB? Explain with 'eg.
18, (a) How to access data using RDO? xplain,

e

(b) hscuss about advantages of ODBRC,

Page 5 Code No.:41394 E

14,

(h)

)

tb)

Describe in detail, wsing OLE Automation
ahjoels,

O
Explain : -
(1) OLIK Drag and drop.
(1) OLE Automation,
Discuss the following with examples,
(1)  Accessing files in VB,
(i) Interface with wil_lduw.-s.
Or

Explain file system controls in VB,

Page 8 Code No.: 41394 E
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Code No. : 40584 E Sub. Code : SMCS 11/
- SMSE 11

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.
. First Semester
Computer Science/Software Engineering — Main
PROGRAMMING IN C
(For those who joined in July 2017 onwards)

Time : Three hours . Maximum : 75 marks

PART A — (10 X 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1. The Alphabets of the C Programming is referred
as———,

(a) Tokens (b) Character Sets

() Keywords (d) Identifiers



What is the ASCII value of ‘B’?
(a) 98 (b 9T
() 65 (d) 66

. loops test the condition before
executing the statement of the loop.

(a) while and do while
(b)  while and for

(¢) for and do... while
(d) do... while alone

is statement used to immediate exit
from the loop or the block of statement.

(a) Go...to (b) Continue
(¢) Break . (d) Stop
1s the collection of similar data types.
(a) Group (b) Structure
(c) Union (d) Array

is a function used to compare two
given strings.

(a) Strlength() (b) Strcompare()
(c) Strcmp() (d) Strepm()

Page2 Code No.: 40584 E



7 s also known as function prototype.
(a) function call
(b) function declaration
(¢) function return
(d) function definition

8 — — 'variables that are defined with in a
body of function or block.
(a) Global (b) Static
(c) Dynamic (d) Local

9. Heterogenous data types are grouped together 1s
refferred as

(a) Union _ (b) Pointer

(¢) Structure (d) Array

10, ——is a function used to open a file.
(a) file open() (b) fopen()
(¢) open() (d) openfile()

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (@) Mention the rules for the identifier.

Or
(b) Discuss about the Bitwise Operator.
Page 3 Code No.: 40584 F



12. (a) Write short notes on?: Operator with
suitable examples.

Or :
(b) State the difference between while and do...
while loop. 3
13. (a) Discuss about character Arrays.
: Or
(b) Write a program to add 10 Integers using
Arrays. :
14, (a) Explain Recursive functions.
Or
(b) Discuss about Union.

15. (a) Explain — how to access the Address of a
variable? :

Or
(b) Write short notes on sequential files.
PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Write detail notes on C — Operators.
Or

(b) Describe the basic Input and Output
operation with suitable examples.

Page4 Code No.:40584 E
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18.

19

(a)

(b)

(a)

(b)

(a)

(b)

Explain the various types of Decision making
and Branching in C Program.

Or

Write a program to display below mentioned
patterns using for loop.

() *
* *
* %k %

Write a program to perform matrix addition
between two 2 x 2 matrices.

Or

Mention the various string handling
functions.

Discuss about user defined function.

Or

Write detail notes on structures.
Page5 Code No.: 40584 E



20. (a) Explain — how to pass pointers as function
Arguments?

Or

(b) Discuss about I/O operations on files.

Page 6 Code No.: 40584 E



(6 pages) Reg. No. :
Code No. : 40590 E Sub. Code : SMCS 41

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Fourth Semester
Comﬁuter Science — Main
VISUAL BASIC
(For those who joined in July 2017 onwards)
Time : Three hours Makimum : 756 marks
PART A — (10 x 1 = 10 marks) '
Answer ALL questions

Choose the correct answer :

1. A Variable declared in general part is called as

variables.

(a) Local (b) Block

(¢) Global (d) Functional



control 1s wused to

information.

(@) Text box

(b) Command button

(© Label :

(d) Picture box

MDI Stands for

(@) Multimedia Document Interface

(b) Multiple Document Interface
() Multiuser Document Interface

(d) None

Which occupies less space on the screen.

(a) List box

(b) Combo box

(¢) Directory box

(d) None of the above

Accessing database from Visual basic

(a) ODBC

(b) Record

(¢) File

(d) None of the above

display

Page2 Code No.: 40590 E



Visual basic is a

(a) Db tool

(b) Backend Tool

()  Server Tool

(d) Frontend tool
Using OLE we can link.
(a) Word

(b) Excel

(c) Powerpoint

(d) Any software

The is to used to create report.
(a) Database

(b) Data Environment
(c0 OLE

(d) None

Which event occurs only once in the entire lifecycle
of an Activex Control?

(a)
(b)
(©
(d)

Initialize .
Terminate
Reuse

Write properties

Page3 Code No.:40590 E



10. The Activex files are stored in the extension of

(aj .axX (b} .Ocx
(e} pn . (dy L

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Explain for/ each loop with example.

Or

(b) What is flow control? Explain select ... case
statement with example.

12. (a) Write about menus in Visual basic.

Or
(b) Write short notes on MDI.

13. (a) - Explain ODBC concept with example.

Or
(b) Explain about DAO control.

Page4 Code No.:40590 E



14. @)

(b)

15. (a)

(b)

Write about object linking and Embedding?

Or

Write down the steps to create OLE

container control.
Explain the uses of OLE container control.

Or

What are class modules? How classes are

constructed with them?

PART C — (5 X 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a)

(b)

Explain Do-While loop with suitable

example.

Or

Develop VB project to do various arithmetic

operation

Page5 Code No.:40590 E



1.

18.

15

20.

(a)

(b)

(a)

(b)
(@)

(b)
(a)

(b)

Explain how control arrays are created at
Design and run time.

Or
Discuss the following.
(i) General and Event Procedure.

(i) Scope of procedure.

Develop a VB project to add, delete records
using RDO.

Or

How to connect VB with Oracle.

Give an overview of OLE Fundamentals.

Or

Differentiate classes, methods and objects.
Discuss any four built in Activex data object?

Or

What is an Activex data object? Explain
ADO object model in detail.
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Code No. : 41403 E Sub. Code : SACS 11/
’ SASE 11

B.Sec. (CBCS) DEGREE EXAMINATION,
APRIL 2019.

First Semester
Computer Science / Software Engineering — Allied
DISCRETE MATHEMATICS
(For those who joined in July 2017 Onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :.

1L R in a set A is said to be
identity relation, generally denoted by I, if

I, ={(x,%):(x€ A)

(a) Inverse Relation
(b) Identity Relation
(¢) Reflexive Relation
(d) Irreflexive Relation

A relation is if no two distinct
points in the digraph have an edge going between
them in both direction.

(a) Transitive (h) Selective

(c) Antisymmetric (d) Symmetric

function is also called as one to one

correspondence
_[a) Into (b) Onto
(o) " Bijective (d) Objective

function is very useful coding

theory.
(a) Big-Omega ~(b) Hamming distance
(¢) Omega (d) Distance

A proposition consisting 6f only a single
propositional variable is called

proposition.

(a) Composite (b) Molecular

(c) Atomic (d) C-:J-lmpound

A is a declartive sentence that is
either true or false.

{a) Sentence (b) Value

{(¢) Domain (d) Propostion

Page 2 Code No.: 41403 E
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10.

A matrix of any order whose all elements are zero

is called
(@) Unit ) (b) Scalar
(c) Row (d) Null

In a matrix if aij=0 for all 1=+ jis called

as
(a) Zero (b) Diagonal
(c) Scalar (d) Umt

Any pair of nodes that is connected by an edge in a

graph is called nodes.

(a) | Incident (b) Adjacent

(¢) Isolated (d) Order

An - graph consists of set of verticels

and a set of -edges such that each edge is

associated with an unordered pair of vertices.
(a) Directed - (b) Undirected
(¢) Unidirected (d) Bidirected

Page 3 Code No. :41403 E

PART B — (5 x b = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Draw the directed graph that represents the
relation ]

R={(1,1),(2,2),(1,2),(2,3),(3,2),(3,1), (3., 3)}
X =423
_ 6
(b) Let R ={(,1), (2, 1)(3, 2)} . Compute R*.

12. . (a) Define functions and its terms.
Or
(b) Show that the mapping‘ f: R — R be define
by f(x) = ax + b, where a, b, x € R, a # 0 is

invertible. Define its inverse.

13. (a) Construct a truth table for each compound
propositions.
@M pal~qvag) '
@ ~(pvg)vlprr~q)
Or

Page4 Code No.: 41403 E
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(b) Prove that the following propositions are
tautology :

@Y pv~=p
(@) p=>(pva).

14. (a) List out the properties of matrix addition.

Or
52 4
" (b) Findthe valueof |2 3 4
3- 4 b

15. (a) . Differentiate undirected graph with directed
graph. ;

Or
(b) Define cycles and wheels.

PART C — (5 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (ay Consider a relation R defined in A = {1, 2, 3} ;

whose matrix representation is given below.
Determine its inverse R™' and compute the
complement R'

Or

IT.

18.

19.

(b)

(a})

(b)
(a)

(b)

(@)

(b)

Let R ={(1,2) (2 3)31) and A = {l, 2, 3

find the reflexive, symmetric and transitive
closure of R, using

(i) Composition of relation R
(i) Composition of matrix relation R
(i11) Graphical representation of R.

Prove the Associative law of function
composition. . - L

Or

Discuss about Inverse of a function.

Discuss about Drived connectives.

Or

Obtain the conjunctive normal form of the

~ following

¥

® palp=09

@ fav@rQh~Kpvr gl
Solve with help of matrices.
x+2y+32=4

x+4y+9z=6
Ty =

Or

Explain the properties of Inverse of matrix.
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20. (a) Draw all the non isomorphic graphs of order
four.

Or
(b) Write detail notes on types of graphs.
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Code No.: 41195 E Sub. Code : JMCS 21/

JMSE 21

B.Sec. (CBCS) DEGREE EXAMINATION,
APRIL 2019.

Second Semester
Computer Science/Software Engineering— Main
OBJECT ORIENTED PROGRAMMING IN C++
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  The reusability idea is provided by the concept of

(a) Encapsulation
{b) Inheritance

(c) Polymorphism
(d) Dynamic binding

[

Which one of the following is used to eliminate the
cost of calls to smaller functions.

(a) Inline function

(b) Friend function

(¢) Virtual function
(d) Function prototype

Which operator is used to allocate an object
dynamically of a class in C++?

(a) A scope resolution operator

(b) Conditional operator

(¢) New operator

(d) Membership operator

A copy constructor may be called when

(a) An object of the class is returned by value

(b) .An object of the class is passed by value as
an argument in functions

(¢) An object is constructed based on another
object of the same class

(d) All of the above

Which of the following operator cannot be
overloaded?

(a) + {hl " —
() * (d)y ?:

L Cude Mo aLion
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operator can be overloaded for object

coat.
(@) >> k) <<
(€ + (d)

If a class contains pure virtual function, then it is
termed as

(a) Virtual class
(b) Sealed class
{e) Pure local class

(d) Abstract class

Run time polymorphism can be achieved with

(a) Virtual Base Class

(b) Containes Class

(c) Virtual funection

(d) Both (a) and (c)

To create an output stream, we must declare the
stream to be of class

(a) of stream

(b) if stream

{c) 1o stream

(d) None

Page 3 Code No.: 41195 E

10.  Which keyword can be used is template?
(a) Class
(b) Typename
(¢) Both (a) and (b)
{(d) Function
PART B — (5 x 5 = 25 marks)
Answer ALL guestions choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) What do you understands about classes and

objects? Explain and give examples,
Or

(b)  Deseribe static member function.

12. (a) What is parameterized constructors?

Discuss.

Or

(b) What is the use of const objects? Give an

example.

13. (a) What are the rules for overloading

operators?

Or

. (b) Write a program to find the total marks for
given five subjects and print the result using

single inheritance.

Page4 Code No.:41195 E
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14.

16.

7.

(a)

(b)

Write a C++ program to implement virtual
function concept.

Or

* Discuss about C++ Stream classes.

Describe the classes for File Stream

Operations.

Or
How do you detect and of file? Discuss.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

(a)

(b)

(a)

(b)

Explain the oops concepts with suitable
examples.

Or
Explain Nesting of member function and

friendly functions with examples.

Briefly discuss about constructor and
destructor member functions.

Or

Write a C++ program to implement
consructors with default arguments.

18.

19

20.

(2)

(a)

(b)

(a)

(b)

Write a C++ program to add two given
numbers using overloading binary operators
using friends.

Or
What is inheritance? Explain any two types
with examples.

Discuss about pointers to derived classes
with examples.

Or

Explain, how do you manage the output by
using manipulators? Give examples.

Discuss in detail about the file opening and
closing methods in C++.

Or’
Explain function templates in detail.

e e




16.

LT

13,

AR (G x8 =140 marks)

Answer ALL guestions, choosing either (a) or ().

Fach answer should not excesd HU0 words:

(a)

(b)
(a)

(b)

(b)

(a)

(b)
(a)

Fxplain computer registers in delail.

Or

Deseribe instruction cycle,
fxplain stack organisation in detal.

Or
What is addressing modes? Fxplain with ail
1t5 Lypes,
Fxplain Booth multiplhication algorithm with
an cxample.

; Or
Describe the basic conaiderations of floating
noint arithmetic. |
Explain input-cutput interface with neat
hlock cdiagram.

Or
Explalin about cache memory.
Write short notes on :
(i) Parallel processing
(i} Pipe hning.

Oy
Discuss the principles of
() Veetor processing
(1) Inlecr connections gtructures.

Pase 4 (Code No.: 41217 E

Code No. : 41217 E

Time ; Three hours

Reg. No, & i

Sub. Code : JACS 31/
JASE 31

" B.8e. (CBCS) DEGREE EXAMINATION, APRIT, 2019.

Third Semester
Computer Science/Software Engmeering — Alhed
COMPUTER ARCHITECTURN
(For those who joined in July 2016 anly)
Maximum : 76 marks
PART A — (10 % 1 = 10 marks)

Answer ALL the questions,
{hoose the correct answer :

A group of bits that tells the system 1o perform a
apecific operations is known as —-—

(a) Instruction code (b) Micrp-operalion

() Accumulator (d) Register _
e holds the address of next instruction
() Stack pointer
{e) Imput register

(b) Program counter
{d) Accumulator

In which mode the operand is specified in the
nstruction itsel? ’

(a) Regster (b Implied

{¢) Immediate (d) Dircet address



.

=1

In instruction format, an address field that
designate a ———F7 —

(4) Memory address (b} Processor register

(e) Effective address  (d) (a) or (b)

Which of the following is an data transfer
mstruetions?

fa) Load (b) Add

(ey AND (dy Clear

The sequence counter used in the multiplication
algorithm denotes number of bits in  the

(a) Multiplicand

{(by Partial product

(¢}  Multiplier

(d) Double length multiplier

In virtual memory, an address used by the
programmer is called a -
) Physical addyess (b)) Virtual address

(©) Address space (d) Virtual space

The memory unit that communicate directly with
the CPU is called ,
(a} Auxibary memory (b) Main menory

(¢} Secondary storage (d) Virtual memory
The unit receiving the data item responds swith
another control signal to acknowledge the receipt
of data 1 ————

(a) Strobe control (by Interfacing

(¢t Handshaking () [nterrupt

Page 2 Code No. 141217 E

10, Pipelinining organizationa 18 appheable to

(ay Arthmetic (b} Instruction

te} Both {a} and (b) {d) None
PART B — (5 % 5 = 2b marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not excesd 250 words.
11. (8) What 18 control memory? Hxplain its

purposes.
Or
(b) What you mean by address sequencing?
~ Discuss.
12, (a) Explain data rtransfer instructions. Give
examples.
Ohr

(h) Deseribe inslructions formats,
13. f(a) Describe the hardware implemeniation of
addition and subtraction algorithm.
Or ;
(1) Deseribe the registerr configurations of
. floating point arithmetic,
14, {8) What do wvou understands ahbout atrohbe
eontrol and hand shacking? Explain,
Or
(by What ave the modes of transfer? Discuss.
16. ({a) Deszeribe array processor,
Or
(hy EHxplain about multi processers.
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Code No. : 41401 E Sub. Code : SNCS4 A

B.5¢. (CBCS) DEGREE EXAMINATION,
APRIL 2019,

Fourth Semester
Computer Science
Non Major Elective — HTML
(For those who joined in July 2017 onwards)
Time : Three hours
PART A — (10 % 1 = 10 marks)

Maximum : 75 marks

Answer ALL questions.

Choose the correct answer :

1. Tocreate HTML page, yvou need
(a) Web browser
(b) Text editor
{c) DBoth (a) and (b)

(d) None

{a) and (/a) are the tags used for

(a) Adding image

(b) Aligning texl

(¢) Audio-voiced text

(d) Adding links to your page

Which of the following tag is used to mark a
begining of paragraph?

(a) <TD} (b) (b r)
© (P) ) (T R)
The syntax for aligning is —

(a) {h] align = "center"}
(b) (hl align}
(c) { hi center)

(d) (hl align" eenter“}

Page 2 Code No.: 41401 F



Unordered list comprises of
(a) Numbers (b) Alphabets
(¢) DBullets (d) None of these

The column tags are specified between the
tags

(a) (tr) and (/tr) (b)  (th)and (/th}

(¢©) (td) and (/td)  (d) None of these

Frames divide the single into
different rectangular areas

(a) Web page (b) Table

(e} Window {d) (hﬂd}")

Which attribute is not used on new forms?
(a) Size : (b) Text
(cy Name (d) Max length

DHTML stands for

(a) Document HTMI. (h) Dynamic HTML

(@ Digital HTML () Data HTML

Page3 Code No.:41401 E

10.

HTML tag is used to define an

internal style sheet in web page

(a)

(c)

({3 SS) (b} {Sﬂ_ri p t)
(St:.rln) (d) none

PART B — (6 ¥ 5 = 25 marks)

Answer ALL questions, choosing either {a) or (b).

11. (a)
(b)
V2, e
(b)
13, «5)
(b)

Answer should not exceed 250 words.

Explain about HTML generations.
Or

Write a short nole on anchor tag.

Discuss, how to design a colorful web page.
Or

Write a short note an heading tags.

Explain with an example the difference
between ordered and unordered list.

Or

Explain how to create a table and which tags
are necessary to create a table?

Page4 Code No.:41401 E
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14.

13.

]

16,

17.

(a)

(b)
(a)

(b)

Write and explain the syntax fo create three
vows and two columns in the first and third
row. Distribute the rows and columns even
frames.

O

Explain Drop down list with example.

Explain the advantages of DHTML.
Or

Explain about inline styles.

PART C — (5 » 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b}.

(a)

(b)

(a)

(b}

Answer should not exceed 600 words.

Explain about HTML history and HTML
documents.

Or

Write the syntax for hyper links and explain
with examples.

Explain horizontal rule, paragraph and tab
getting with examples.

Or

Explain the features of ineluding images and
pictures in web pages. Give example.

Parce 5 C(Code No.: 41401 E

18.

19.

(b)
(a)

(b)
(a)

(b

Design a web page that has ordered, uncrded
and nested hats.

Or
Design a page for your subject time table.
Design a web page to illustrate frames.
Or
Explain the features 1n forms.

How to link a style sheet to an HITML
document? Explain with example.

Or

[xplain internal, external and multiple
sheets with example.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.
Second Semester
Computer Science/Software Engineering — Allied

DIGITAL DESIGN

(For those who joined in July 2017 onwards)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks) -

Answer ALL questions.

Choose the correct answer :

L, Operands used for calculations may be expressed
in ————— system.
(a) binary
(b) decimal
(c) octal

(d) hexadecimal



bo

:-CI

When a binary number has 4 bits it is called
(a) byte (b) decimal -
(¢) nibble | (d) all the above

Bubbled AND gate is equivalent to

(a) OR (b) NOR
(0 NAND (d) NOT

The IC for NOT gate is
(a) 7402 (b) 7404
(c) 7408 (d) 7432

Boolean equation can be simplified by

(a) SOP (b) POS

(c) Both the above  (d) none of the abdve
A+AB is r

@y A - ®) A

© ‘B d A+B

Data selector is
(a) multiplexor (b) demultiplexor

(c) encoder (d) decoder

Page 2 Code No. : 40603 E



8. There is data input in

(a) multiplexor (b) demultiplexor
(C) encoder (d) decoder
9 — 15 called a latch.
(a) Encoder = * (b) Decoder
(¢) Flipflop (d) Register
10. —————1s a group of Flipflop.
(a) Encoder (b) Decoder
(c) Register (d) Multiplexor

PART B — (6 x 5 = 25 marks)

Answer ALL the questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Write short note on Gray code.
Or
(b) Convert FCA.3 into decimal.
12. (a) State and prove Demorgan's theorem.
W :

(b) Distinguish between positive and negative
logic. :

Page 3 Code No.: 40603 E



13. (a)

(b)

14. (a)

(b)

5. a)

(b)

Using POS simplify zM(1, 2, 6).

Or
How will you convert SOP to POS?

Define demultiplexor.  Explain 1-8
demultiplexor. -

Or

With suitable diagram explain BCD to
decimal decoder.

Explain the function of master slave flipflop.
_ Or
Describe universal register.

PART C — (b x 8 = 40 marks)

Answer ALL the questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

6. ~(a)

(b)

What are hexadecimal numbers. Give its
application convert the following into -
hexadecimal numbers,

(1) 3648
(1) 4823
Or
(1) Explain ASCII code with example.
(1) What is Excess-3 code? Give its
importance. :
Page4 Code No.:40603 E
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18.

19.

(a)

(b)

(a)

(b)

(a)

(b)

Explain all the basic gates with suitable

diagram.
Or
What are wuniversal gates? Explain its
function.
Draw the truth table and logic equation and -

hence logic circuit of Z(S, 5.6 7).

Or

Define K-map. Give its significance using

K-map simplify

F(4,B,C, D)=>(1,313,11,15,9).

Explain the function of encoders with suitable
diagram.

Or
Using 2's complement find

(i) =97 + 87 (ii) — 43 — 27

Page 5 Code No.:40603 E



20. (a) With suitable diagram explain the JK flipflop.
Or

(b) Explain the working function of serial in
parallel out register.

Page 6 C.ode No. : 40603 E
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Code No. : 40592 E Sub. Code : SMCS 43

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Fourth Semester
Computer Science — Main
RELATIONAL DATABASE MANAGEMENT SYSTEM
(For those who joinéd in July 2017 onwards)
Time : Three hours : Maximum : 756 marks
PART A — (10 x 1'= 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  The overall design of a database is
(a) Physical schema (b) Logical schema
(c) Schema : (d) None of the above

2. A relational database 1s based on
(a) Network model (b) Hierarchical model
(¢) Relational model (d) All the above



=1

command i1s used to remove the
relation from the SQL.

(a DROPTABLE (b) DELETE TABLE

(¢ REMOVE (d) All the above
value signifies, .that the value is
unknown. :
(a) Null value (b) Domain value
(c) Atomic value (d) None of the above

symbol can be used in the select clause
to denote all attribute.

@) .; : By %
(G5 (d) all the above
clause causes the tuples in the result of
a query to appear in a sorted order.
(a) group by (b) order by

(c) ascordesc (d) none of the above

A sub class with more than one super class is

(a) derived classes (b) sub classes

(c) shared classes (d) all the above

Page2 Code No.:40592 E



8. 2NF is based on
(a) full functional dependency
(b_) functional dependency
(¢) multivalued dependency
(d) all the above
9. ————— command can be used to modify the
sequence. .
(a) MODIFY SEQUENCE
(b) ALTER SEQUENCE
(¢ UPDATE SEQUENCE

(d) All the above

10. A function is
(a) Return a value
(b) No return value
(¢) May or may not return value

(d) None

Page3 Code No.:40592 E



11.

12,

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)
(b)
(a)

(b)
()

(b)
()

(b)

Explain data abstraction in detail.

Or

Write in detail about data manipulation

languages.

What are the components (parts) of SQL?
Or

What are basic data types in SQL?

What is the use of where clause? Explain.
Or

Write short note on Natural join.

What is specialization? Give example.

Or

Explain the concept of Inheritance.

Page 4 Code No.:40592 E
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15 (o)

(b)

What is the purpose of using DESCRIBE
command?

Or
Explain PL/SQL block structure.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

G
(®)
17 (a)
(b)
18. (a)
(b)

What are the disadvantages of database
system?

Or
Explain :
(i) Data storage
(i) DBA.

Explain the concept of schema. Give
example.

Or

Explain relational operations with example.

Explain set operation. Give example.

Or

What are nested subqueries? Give example.

Page5 Code No.:40592 E



19

20.

(@)

(b)

(@)

(b)

Explain :
() = 2NFE
(i) 3NF.
; Or

Explain  functional dependency  with
example. -

Explain how to modify table. Give example.

Qx

What are stored procedures? Give example.

'Page6 Code No. : 40592 E



16.

18.

19.

20.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (h).

(a)
(b)

(a)

(b)
(a)

(b)
(a)

(b)
(@)

(b)

Explain about Excess-3 and Gray codes.
Or
Explain- how the Boolean
Y = AB+CD can be drawn using,
(i) AND-OR ecircuit
(1; NAND-NAND circuit
(111) AND-OR-INVERT circuit.
Simplify the following expression
Boolean algebra.
(1) -AB+A(CD+CD)
(i) (BC'+A'D)(AB +CD").
Or
Simplify Y =4 BC D+ ABCD + ABCD .

expression

using

Explain the following :

(i) Half adder

(i1) Controlled inverter.
Or

Discuss Both algorithm.

Discuss about the RS flip flop and JK flipflop.
Or

Explain Master-Slave flip flop.

Briefly describe the functions of computer

register.
Or

Discuss about parallel in serial out.

Code No. ;: 41404 E
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Code No. : 41404 E Sub. Code : SACS 21/

SASE 21

B.8c. (CBCS) DEGRIE EXAMINATION,
APRIL 2019.
Hocond Hemoenter
Computer Scienco/Software Engincering -~ Allind
DIGITAL DESIGN
(For those who joined in July 2017 anwardn)
Time : Three hours Muoxcimum @ 76 murks

PART A — (10 % 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1. What is the decimal value of binary 1011.11?

(a) 11.0 (b)y 11.75
(c) 11.25 (d) 11.01
o A toggle operation cannot be performed using a
single — gate.
(a) NOR (b) AND
(c) NAND (d) XOR

8- What is A * A, if * is a Boolean operation defined
by A* B=AB + A'B"?
(a) A () B
) A d) 1




10.

x4+xy= ——
(a) vy i M) 1
(c) O (d) x

The 2's complement of 1011000 1§ ——
(a) 0100111 (b) 0010100
(¢) 1001001 (d) 1010010

The binary subtraction of two number to produces
result as ;
@ 10 ®) 11
) 1 Lo o

Find the odd one out
(a) RS flipflop
(¢) D flipflop

(b) JP flipflop
(d) Master slave flipflop

A group of flip-flops sensitive to pulse is called a

(b) Gate
(d) Decoder

(a) Resister
(c) Catch

MRI stands for
(a) Memory Reference Instruction
(b) Memory Register Instruction
(¢) Memory Reference Integration
(d) Memory Register Instruction

counter.
(b) Asynchronous
(d) Parallel

Page 2 Code No. : 41404 E

Ripple counter is
(a) Synchronous
(¢) Serial

Tl

12.

13.

14.

15.

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or {(b).

(a) Do the following :
(i) Convert (0.6875), to binary

(i) Convert (0.513);, to octal.
o
(h) Which gates are called a universal logic gates?
Why?

(a) What 1s a constructor? Write down the
characteristics of constructor function.
: Or

(b) Write short notes on : Encoders.

(a) Explain the features of Member functions.
Or &

(b) Discuss in detail 2's complement arithmetic
with examples.

(a) Discuss the principle of clocked RS flipflops.
Or

(b) Whatis D flip-flop? Explain.

(a) Write about serial in-parallel out shift
register.
Or
(b) What are the types of registers? Explain.
Page3 Code No.: 41404 E
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(Code No. : 41196 E Suh. Code ! JMCS 31

JMSE 31

1 Se. (CBCS) DEGRER EXAMINATION,
APRIL 2012 '

Third Semester
Computer arianee/boltware Enginecring — Main
WEB PRCHNOLOGY
(For those who joined in July 2016 only)
Lrpime - Three hours NMaximum : 79 marks
PART A — (10 x 1= 10 marks)
Answer ALL que af10TIE,
(‘hoose the correct answey -

1. e eoyn alder meEni—ariven docurnent
systen, which is noW mostly replaced by the web

(z) Telned
by FTF

{c) Gopher

A afERE

5

£,

The protocol, which provides comim anicable global
2 ddresses offto the COMpPULTTS 18 ——

(a) Tthernet ty 1P
(@ TCP (dy HTTP

Which of the fallowing i@ 4 meta iniormation?
(a) Keywords

(b)  expiry date

(¢y Pate generstion software used

idy All the ahove

_ gpecifics the hackeround coloy of the

web pages
(¢y Vlink () Text

(a) Bueeolor

______nte the document ohiject properties

(a} He color and fgeolor
(k) Link color - and alink color
() Title and forms

(dy Allthe above !

S r— Ty

Qubmit () 182 method for ——
{a) Forms objett hy  Document ghjoct

(g) Text bt (dy Date ohject

Page 2 Code No.: 41186 B
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XML documents are made up of
() Tag (b) Elements

(¢}  Actributes (d) (a), {b}and (c)

KML wag designed to
(a) Desceribe data
(b} Focus on what data is
(¢) Display data

(d) (a) and (b)

is an interface that declares the life

. ¢yele methods for a servilet

(a) Servlet request
(b} Generic gervlet
()  Servlet

{d) &Serviel context

Java server puges are saved with

fa} .jsp (B) .java
(¢} .ixt (d) .asp
Page 3 Code No, ;41196 E

Bl

L2,

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

()

(h)

(a)

(b)

()

el

What is internet? Explain the uses of
internet.

Oe
What is WWW? Explain the concepts.
Describe the outling of an HTML documents,
Oy

List the advantages and disadvantages of
dynamic HI'ML.

What ig the purpose of XML DTD? Explain.
Or

Deseribe  XMI,
cdisadvantapes.

attributes  with 1£5

Deseribe the language elements of Java
Seript.

Ox
iixplain the looping conatructs of VB seript

with axamples.

Code No. : 41198 E
(P10
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15, (&) Write apout HTII‘TP got and post requests.
Or
(by Explain about serviet APT.
PART O — (B x8=40 marks)
Answer ALL guestions choosing either (a) or ().

Hach answer should not exceed 600 words.

16. (a) What s protocol? Explain TOP and UDE in
detail.
Or
by  Fxplain internct applications and application
protocols in detail.

17 (a) Describe the various tags which are used 10
H'TMI, bady section and to design forms.

Or
(p) Explain about 088 and DHITML event
handling.

18 (a) Explain (i) the building blocks of XML
documents (1) XSL.

Ovr

(%) Deacribe the features of common gateway
interface.

19. (2
(b)
20. .(a}
(h)

Egplain the purpose of properties and
methods of

(1) Text hoxes and text-areas

(i) Buttons, +adio-butons and check boxes.

Or

Explain (i) How 10 embeded VB Script code
in an HTML document (1) Conditional
ctatements 10 VI script.

Fxplain the advantages and features of ASE.

Or

Describe the features and advantages of J5P.

e e




(6 pages) Reg. NO. s 9 Linked pages arn called ag —

Code Nﬂ'. » 41224 E Sub. Code : JNCS 4 B/ (n) hypertext (h) webpages
JNBSE 4 B (¢) links (d) Thyperpages
.G, (CBCS) DEGREE EXAMINATION, APRIL 2019. 3. Which one is a search engine? -
Fourth Semester (@) Hotmail by G-mail
Computer Science/Software Engineering — () Google (dy E-mail

Non-Major Elective

_ 4 What is defined as the collection of WebPages?
FUNDAMENTALS OF INTERNET Bl aBEL e HRE SRR DUES Bk Res )

(For those who joined in July 2016 onwards) i) Lthlecton Gl Theheits
Time : Three hours Maximum : 76 marks UL bt Lngg san
PART A — (10 % 1 = 10 marks) a, Who allocates website addresses?
Answer ALL questions. (a) Intel by DEC
Choose the correct answer : () TnterNIC @ NIC
1. The Interconiccted ‘mefwark ds eowa “as 6.  Which software is used develop websites?

(a) Internet (a} Adobe Dreamweaver

(h) Network (b  Pant
() Connection ()  Word
{dy Subnet (d) Bxcel

Page 2 Code No.: 41224 E |
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10.

M-Commerce means

(a) DMultiple Commerce

(h) Media Commerce

(¢} Mebile Commerce

() Maobility Commerce

Which trade is between customer and seller?

(a) BaC
(¢) ©2C
The

(a) Hacking
(c) Threats

The

them.
(a3 Bueg

(€} Virus

(b) B2B
(dy C2B
i a kind of eyber crime.
(by TLpdate
(d) Delete

finds data in memory and alter

(h) Exception
(d) Worm

Page 3 Code No. : 41224 E

s

12,

13.

15.

PART B — (5 X 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceod 250 words,

(a)

(b}
(&)

()

{a)

(b)

()

()

()

(b}

Write notes on Internet services.
O
Explain current network technologies.,

Discuss URL and ite selection.
Or
Bring out the types of web sites, Explain.

Iscuss the structure of the Wehsite with an
example.

Or

Write down the
Dreamweaver,

A dobe

leatures of

Rxplain the types of Internet based trading.
Or
Diseuss the Shapping in Virtual store,
[ixplain Internet Threats and ils tvpes.
Or
Write notes on Firewall
Page 4 Code No.: 41224 E
[P.T.0.]



16G.

185,

19.

PART € — (b x 8 = 40 marks)

Answer ALL gueslions, choosing either (a) or (b).

Fach answer should nol exceed 600 waords,

(&)

(1)

(a1)

(k)

(&)

(b

Explain Internet architecture in detail,
Oy
What is Internet? Explain hardware and
software in the Internet.,
Explain the tyvpes of Internet accounts.
Or
What is a search cengine? Explain with

examples.

Explain website development and its hosting
in detatl.

Or

Explain the features of Microsoft FrontPage.

Explain the busineas relationship of
F-eommerce,
Or

Ihscuss M-commerce and ibs issues,

Page 5 Code No, : 41224 E

i) SN

(b

Define Blog, How will vou build a Blog zite?

Iy

Compare ¥irus and Worm,
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Code No. : 40383 E Sub. Code : JMCS 61/
JMSE 61

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.
Sixth Semester
Computer Science/Software Engineering — Main
OPERATING SYSTEMS
(For those who joined in July 2016 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1 e linen many systems to attach to a
pool of storage
(a) DLM
(b) SAN
() WAN

(d WORM



Messages can be exchanged between the process
either directly or indirectly through

(a) packets (b) host name
(¢) mail box (d) resources
Which of the following is the process state when a
process is waiting to be assigned to the processor?
(a) new (b) : running
(c) waiting (d) ready

is a module that gives control to the
process selected by the short term scheduler
(a) Context switch (b CPIT hurst
(¢) Dispatcher (d)  Scheduler

Co-operating process share
(a) data (b) .code
(c) data and code (d) nosharing

Which one of the following is a synchronization
tool?

(a) mutex (b) locks

() semaphores (d) all the above

Page 2 Code No.: 40383 E



10.

For handling address spacgs larger than 32 bits

page table is used
(a) hierarchical (b) hashed
(c) inverted (d) all the above
address space refers to the logical
view of process in memory .
(a) segmentat.ion (b) paging

(¢) wirtual (d) all the above

File is a collection of related information on the

storage
(@) primary (b) secondary
(c) tér'tiary (d) auxiliary

~is a solid state drive

(@ CD () DVD

(¢©) Blu-ray disc (d) All the above

Page3 Code No.:40383 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

()

(b)

(a)

(b)

(a)

(b)
(a)

(b)

" Answer should not exceed 250 words.

Define operating system and explain user
view and system view of the same.

Or

Explain various categories of system

" programs,

Give an account of PCB with suitable
diagram.

Or

State and explain the criteria behind CPU
scheduling.

Explain critical section problem with its
solution.

Or
What is safe state? Explain with example.
Explain dynamic linking and loading.

Or

Discuss the perforfnance of demand paging.

Page4 Code No.:40383 E
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15.

16.

17.

18.

(@)

(b)

(a)

(b)
(2)

(b)

(a)

(b)

Discuss about file access methods.

Or
Explain SCAN scheduling used in the disk.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Answer should not exceed 600 words.

Describe the architecture of operating
system with suitable diagram.

Or

Give an account of operating system services.

Explain in detail IPC with reference to
message passing systems.

Or

Explain in - detail wvarious scheduling
algorithms with suitable examples.

Define synchronization and explain how it
works in consumer producer problem.

Or
Explain in detail the deadlock prevention.

Page 5 Code No. : 40383 E



19.

20.

(a)

(b)
(a)

(b)

Describe the paging model of logical and
physical memory with suitable diagram.

Or

Discuss about thrashing in page allocation.

Explain various operations on files with
reference to file structure.

Or

Give an account of mass storage structure.

Page6 Code No. : 40383 E
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Code No. : 40585 E Sub. Code : SMCS 21/
SMSE 21

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Second Semester
Computer Science/Software Engineering — Main
OBJECT ORIENTED PROGRAMMING IN C++
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks

PART A — (10 % 1 = 10.marks)

Answer ALL questions.
Choose the correct answer.
1. ———— is the process by which objects of one

class acquire the properties of objects of another
class.

(a) Encapsulation
(b) Inheritance

(c) Abstraction

(d) Late Binding



The deferencing operator is
(@) “.2> s R
© ->» | @ =
is special because its name is _Lhe
same as the class name. .
(a) function (b) constructor
(c) object (d) inheritance
Which of the following operator cannot be
overloaded?
()= (h) = F
7 @ %
A class can inherit properties from more than one
class which is known as
(a) single inheritance
(b) multiple inheritance
(¢) multilevel inheritance

(d) hierarchical inheritance

An ———— class is designed only to act as a
base class.

(a) derived (b) ‘member

(¢) wvirtual base (d) abstract

Page2 Code No. : 40585 E
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10.

Virtual functions
(a) must be members of some class
(b) cannot be static members

(¢) can be a friend of another class
(d) all the above

if we create a file by If stream’ then the default

“mode of the file is

(a) 10s::out

(b) ios::in

(c) 1ios::app

(d) ios:: bina.ry

Function templates can accept

(a) any type of parameters

(b) only one parameter

(c) only parameters of the basic type

(d) only parameters of the derived class

The functions ———— writes a single
character to the associated stream.

(@) put()

(b) write ()

(c) fout

(d) ios::out :
Page3 Code No.:40585 E
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12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)

(a)

)
(a)

(b)

Explain arrays of objects with an example.

Or

Discuss the characteristics of friend function
with examples.

Define constructors. Describe its special
characteristics.

Or

What do you understand about Destructors?
Discuss with suitable program.

Write a program to implement overloading
unary operators.

Oy

Write a program to multiply two given
numbers USE single inheritance.

Explain “this” pointer with suitable example.

QOr

Describe virtual functions.

Page 4 Code No.: 40585 E
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15.

(a)

(b)

Explain File stream classes in detail.

Or

Discuss briefly about class templates.

PART C'— (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

Fach answer should not exceed 600 words.

16. (a) Explain the basic concepts of 0O0Ps.

18.

(b)

(a)

(b)
(a)

(b)

Or

How will you create classes and objects in
C++? Explain. -

Describe Copy constructor.s with an example
programs. '

Or

Tllustrate Dynamic constructors.

Illustrate overloading Binary operators
using Friends.

Or
Explain Multilevel and Multiple Inheritance.

Page5 Code No.:40585 E



19.

20.

(a)

(b)

(a)

(b)

What is Pointers? Explain Pointers
Derived classes with an example.
Or
Explain :
(i) C++ stream classes

(i) Unformatted I/O operations.

to

Explain end-of-file detection and File modes.

Or

Describe function templates.

Page 6 Code No. : 40585 E
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Code No.:41216 E Sub. Code : JACS 21/
JASE 21

B.Sc. (CBCS). DEGREE EXAMINATION,
APRIL 20189.
Second Semester
Computer Science/Software Engineering — Allied
DIGITAL DESIGN
(For those who joined in July 2016 only)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :
L. '[l’Il‘]L)1 is equivalent to
(@) (FD)e ) (AA),

© (AB) @ (AC),

Which of the following logical operation is
represented by the +sinn in Boolean algebra?

(a) AND (b): OR
© NOT ' (@) Tnversion

Which of the examples below expresses the
commutative Law of Multiplication?

(@) A+B=B+A ® A-B=B+A

¢ A-B=B-A d A+B=B-A

The distributive Law, A(B+C)=
(@) (A+B)+C () AB+AC
(@ A+ {B + C} (d AB-AC

are useful for decimal displays.
(a) Encoders p
(b) Seven— Segment decoders
(¢) Multiplexers

(d) None

A multiplexer with 4-bit data, selects input as a

(a) 4:1 b)) 2:1
(¢ 16:1 iy 82l




9.

10.

The 2's complement representation of —10 is

(a) 00001010 (k) 00000110

(¢) 11110110 (d) 11111010 .
The functional difference between RS and JK ﬂii)

is that

(8) JK flip-flop is faster than RS flip-flop iR
(b) JK flip-flop has a feedback path

(e)  JK flip-flop accepts both inputs 1 18.

(d) None of then

Ripple counters are also called as
(a) Asynchronous conunter

(b) Synchronous counter

(¢) SSI counter

(d) VLSI counter

An asynchronous 4-bit binary down counter
changes from count 2 to count 3. How many
transitional state are required?

(@) Six ® Two
{(c) Four (d) Fifteen
Page 3 Code No. : 41216 E

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

(a)

(b)
(a)

(b)

Describe the logic gates with Truth tables.
" Or :

What do you mean by positive and Negative
Logic? Explain.

Describe the Boolan Laws.
Or
Discuss about Don't Care Conditions.

Convert the following decimal numbers to an
8-bit sign-magnitude number.

@ +6
G 18
(i) -23
(v) —45
~ 175

Also convert the answer to hexadecimal
from.

- Or
The following  hexadecimal numbers
represent sign -~ magnitude numbers,
Convert each to its decimal equivalent.
@ (FF),
(i) (8F),-

Page 4 Code No.:41216E
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14.

15.

16.

(a)

(b)
(a)

(b)

Answer ALL questions, choosing either (a) or (b).

(a)

(b)

Describe RS Flip Flops.
Or
Discuss about Universal Shift Register.
What is Decoding Gates? Explain.
Or
Define :
(i) Asynchronous counter
(i1) Synchronous counter. :
PART C — (5 x 8 = 40 marks)

Convert the following :

(i) (110111011), to Decimal

(i) (155)y to ]E-fiuarj.r

(iii) (4574);0 to Octal

(iv) (1235);p to Hexa decimal.
Or

Convert the following :

(i) (FFA);s to Binary

() (324)s to Decimal

(it1) (2566),9 to Binary

(iv) (111000101010); to Hexa decimal.

Page 5 Code No.:41216 E

17.

18.

19.

20,

(a)

(b)

(a)

(b)

(a)

(b)
(a)

(b)

Explain Karnaugh Maps with Two, Three
and Four variable map examples.

Or

Explain Pairs, Quads and Octets with
Algebraic Proof.

Explain about Multiplexers and

De-Multiplexers.
Or _

Explain Seven — Segment Decoders with
diagram.

Explain JK Flip Flops.

Or

r

Explain the Types of Registers in detail.
Explain Ripple counter with block diagram.

Or

Describe Synchronous Counter.

Page 6 Code No.: 41216 E
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16,

17.

18.

1.

(a)

()

Explain about main memory.

(v

Describe the purpose of Cache memory.

PATP €] ——{Biss 40 marks}

Answer ALL questions choosing either (a) or (b).

(1)

(h)
{a)

(b)

{a)

(b)
{a)

(b)

(a
(b)

St

What are the phases of instruction cyele?
Fxplain in detail,
Or

[xplain about computer instructions.

Fxplain stack organiza tions.

Or
What is addressing modes? Explain its
varipus types.

Explain multiplication algorithm and give
example. :
O

Explain division algorithm and five exaunple.

Describe asynchronous data transter.

Or
What is the purpose of DMA? Explain with
block disgran,

Fxplain aboul assoc ative Temory.
Or
Describe mirtual memory.

Puge 4 Code No.: 41392 E

Reg. No. & o
Code No.: 41392 E  Sub. Code : SMCS 32

B.Se. (CBUS) DLEGREE EXAMINATION, APRI [, 20159,
Third Semester
Tomputer Science — Main
COMPUTER ARCHITECTURE
(For those who joined in July 2017 onwards)

Time : Three hours Maximum ; 76 marks
PARTA —(10x1=10 marks)
Answer ALL questions.
(hooge the correct answer :

1. A group of bits that instruct the computer to
perform & gpecific ~ operalions ig  ecalled

() operation um:le (h) =stalus word
{z) instruction code (d) op-code.

9. The address of the next instruction is hold by

(a) stack puinter (b) program counter
(¢) input register (d) accumulator.
3. The prefix notation of the infix notation
xxy -prg+A*B
(a) —+rxy*pq A+ D
(b) +- xy*pg+AD
&) —r*xy «py+ AR

(d) xy*pqrAD*-—.



/———

- §

.

[n which mode; the effective qddress 18 equal to
the address part o f instruetion?

(a) - mmediate mode by remeter mode

(c) direct mode () indirect mode.

When A=T0. the subtract magnitude for the

.

gperation { .ﬂ)—(-r B:] 18
@ +(A-B) &) -(a-B)
@ +la+B) W -a+B8)

The sequence counter used in the u:mlt.ipliq:aij_r:1~|
algorithms denates the aumber of bite i the

{a) m ultiplier

(by m altipheand

() partial product

(d) double length of multipher.

Which comim and 18 jegued  to qetivate 1he
peripheral and to inform it what to da

(a) 1o command

() Cantrol command

(¢) Statuscom mand

(dy Dataou fput commantl.

H———— R intertace {yansfers dala
inta and out of the memory unit vhrough {he
memory Hus. i
() Pro grmﬁmed 110

(hy Inte t'rupt-'mir.mted LI

() Divect-memory ACCeES

(d) None.

1ache Memory 18 in between ——
(a) Tnput and suiput processor

—

() miain memory and input progessar

(e) main memory and CPU
(d) main Mmemory and output PrOCESsUr.

page 2 Code No. 41392 E

10.

11.

12.

14.

An address in main memory je called 2

{a)

()

locution (b}
virtual address {d)

physical address
(a) or {h).

PART B — (b ¥ 5 = 25 marks)

Answer ALL questions choosing either (a) ov (B},

(e

(b}

(a)

{a)

(b}

(a)

(b)

Explain about stored program organizalion
and indirect addréss with mneat hlock
diagrams.

Or
Describe the functions of computer reglsters
and how the regislers and memory A2re
connected 1o the common bus sysetem.

Txplain about instruction formats.

Or
Deseribe the data manip alation instr action.

Draw the flow chart for add and subtract
operatons and explam,

Or
Texplan the addition and subtraction
algorithms for floating — paint numbers,

Expilam jsolated and memory-mapped 110
Or

What do you understands ahout priority

interrupt? Txplam Daisy-chaiming prioriky.

Page 3 " Code No.: 4] 392 E
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Code No. : 40375 E Sub. Code : JMCS 11/
: JMSE 11

B.Sc.(CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.
First Semester
Computer Science/Software Engineering — Main

PROBLEM SOLVING TECHNIQUES AND
PROGRAMMING IN ‘C

(For those who joined in July 2016 only)

Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the corrvect answer :

b s is an effective step-by—step
procedure is perform calculation or for the solution
of a problem.

(a) Algorithm

(b) Flow chart

{c) Programming Language
(d) None



6.

Which of the following is not an Input device?

(a) Printer (b) Scanner

(¢) Keyboard (d) Mouse

Which of the following is not an assignment
operator? 3

(a) = (b) +=

(& »=1 @ *>

What are the respeci-;ive minimum sizes (in bytes)

of the following three data — types : short, int and
long?

(@) 1,2,2 (b) 1,2,4
© 1,28 (d) 2,24

Which of the following is an unconditional control
structure?

(a) if (b) do—while
(c) switch—case (d) goto
=

(n<10)? s=0 : s=1;

The above expression gives

(2) s=0 (b) s=1
(€) n=5h (d) n=10

Page2 Code No. :40375E



7.  The default return data type in a “C” function
definition is.

(a) float (b) void
(¢) int (d) char

8 Which one of the following is the correct way to
declare a pointer?

(a) *int ptr; (b) int ptr*;
(c) int *ptr; (d) intptr™
9. The function used to detect the end of file is

(a) fer ror() i (b) Feof()

(c) fget() : (d) fputs()
10. The arguments used in the function declaratior
are referred as arguments.
(a) actual (b) function
(¢) declaration (d) formal

PARTB — (b x5=25 marks)
Answer ALL questions, choosing either (a) or (b).
Answer should not exceed 250 words.
11. (a) Explain the classification of programmin

language.

Or

(b) Define Algorithm and flowchart. Describe hoy
it will support for problem solving.

Page3 Code No.:40375]



12

13.

14

(a)

()

(a)

(b)

(a)

(b)

(2)

(b)

Define constants and variables, State the
rules with exampies.

Or
What is data types? Describe with examples.

Write a C program to print the numbers
which are divisible by 5 between 1 to 100.

Or
Write a C program to accept N numbers from
the keyboard and calculate the sum of odd
numbers and sum of even numbers in the list.
Write a C program to accept several numbers
and print the maximum of the using
functions.

Or

Write a C program to count and print the
number of vowels present is a given string,

Describe pointer expressions with examples.
Or

Write a C program to create a data file for

_ student data.

Page4 Code No.:40375E
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16.

I

18.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)

(a)

(b)

(a)

(b)

(a)

Answer should not exceed 600 words.

Explain the generations and features of good
programming languages.
Or

Explain the types of input devices and
classifications of output devices.

Explain the use of operators in C with
examples.

Or

Explain the input/output statements with
examples.

Write a C program to accept five marks and
caleculate average if each marks >=35. Also
print the grade using

Average marks Grade
Below 50 E
50-59 D
60-69 C
70-79 B
80 and above A

Or

Page5 Code No. : 40375 E
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20.

(b)

(a)

(b)
(a)

(b)

Write a C program to read a set of ‘n’ integers
in an array and print the numbers of

(i) Positive numbers
(i1)) Negative numbers
(iii) Zeros

(iv) Odd numbers

(v) Even numbers.

Explain the categories of functions with
examples.

Or
Explain structures and unions.
Explain the term pointer variable. Give

example and write a program to find the
factorial of a given number using pointers.

Or
Explain

1) . File opening

(i1) Input/output operations on files.

Page 6 Code No.:40375E
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SASE 31

B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Third Semeéter
Co.mp uter Science/Software Engineering — Allied
' WEB TECHNOLOGY
(For those who joined in July 2017 onwards)
Time : Three hours Maximum : 75 marks
. PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1% Standard for local area networks (LANSs).
(a) Ethernet
(b)  TCPIP
). HITTP
(d FTP



S'.TI

IP address space is allocated to downstream
providers and customers by :

() IANA () RIR
) “ASB (d) Router
HTl\a'_fL Tag is used to displ_ay the
Title bar of the web browser.
(a) <TITLE> (b) <HEAD>
(¢) <TITLE BAR> (d) <BODY>

Which of the following tag is used to mark a
beginning of paragraph?

(@) <TD> (b) <P>
() <br> Ly =TR=>
Javascript is —————— language..

(a) Programming

(b) Application

(c) Scripting

(d) Browser

Write a conditional statement for executing the
code if "i" is NOT equal to 57

(@) if (@i} =b) (b) if(@<>5)

(¢) ifi=!5then dy Hiz=5

Page 2 Code No. : 40604 E
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10.

is the method used to display a
dialog box in the document window

‘(a) show() (b) confirm()

(c) display() (d) prompt()

How do you find the number with the highest
value of x and y in Javascript?

(a) -ceil®x,y)

(b)  top(x,y)

(c) Math.max(x,y)

(d) Math.ceil(x,y)

DHTML is the combination ﬁf
(a) XML and XHTML

(b) HTML and JavaScript
(¢ XHTML and HTML

(d) HTML and CSS

The important component of DHTML is
(a) Forms
(b) Style Sheets
(¢) Hyperlinks
(d) Frames
Page 3 Code No.: 40604 E



11.

12.

13.

14.

PART B — (5 x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(@)

(b)

(a)

(b)
(a)

(b)

Discuss the uses of internet.
Or
Describe host names.

Explain the various attributes in <BODY>
Tag. '

Or

With suitable example explain TABLE tag
with all its features.

Discusé the need of a scripting language.
Or

Explain functions in JavaScript.

Explain Select object in JavaScript.
Or

Write a JavaScript that finds the square root
of an integer.

Page4 Code No. : 40604 E
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15, (a)

(b)

Describe contextual selectors.
Or
Explain event bubbling.

PART C— (5 x 8 = 40 marks)

Answer ALL questions choosing either (2) or (b).

Each answer should not exceed 600 words.

EG.¢ (a)
(b)
) LR )
(b)
18. (&)
(b)

What are the uses of internet? Describe any
three application protocols.

Or
Comparel and contrast IMAP and POPs.

Explain Lists in HTML in detail with
example.

Or

Explain HTMIL forms in detail with an
example.

Discuss the various operators in JavaSript.
Or

Explain in detail the looping statements in
JavaScript.

Page 5 Code No.:40604 E



19

20.

(@)

(b)

(a)

(b)

Discuss Date object and String object in
JavaSeript.

Or

Describe Buttons, Radio buttons and
Checkboxes of the Form Object.

Explain Properties of tags, their values and
style properties. '

Or

Describe DHTMI, document object mode]
and collections.

Page 6 Code No. : 40604 E
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Fourth Semester

Computer Science — Allied
E - COMMERCE

(For those who joined-in July 2017 onwards)
Time : Three hours - Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
- Answer ALL questions.
'Choose the correct answer :

1.  —————— model, business Website is a place
where all transactions take place between a
business organization and consumer directly.

(a) B2B (b) B2C
() C2B (d cC2¢



2. The unit of speed used for super cenductor is

(6 pages) Reg. No. | ..., R x
Code No.:41221 E  Sub. Code : JNCS 3 A/ ; (a) KFLOPS ()  MELOPS
JNSE 3 A ' (&) GFLOPS () Noneof fhese
| _ 3. —————— is the most commonly used input
U.G. (CBCS) DEGREE EXAMINATION, APRIL 2018, devioe,
Third Semester (a) Kevboard (b) Mouse
(¢} Joystick (d) Scanner

Computer Science/Software Engineering
4, LOD stands for

{a) | Liquid Colour Display

Non-Major Elective — INTRODUCTION TO

COMPUTER
(b)  Light Colour Diaplay
Aty . 2 2 'l Lo -
(For those who joined in July 2016 only) (¢)  Lithium Colour Display
Time : Three hours Maximum : 75 marks (d) Liguid Crystal Display
Time ; .
PART A — (10 % 1 = 10 marks) h.  The operating system that is self-contained in the
device and resident in ROM js
Answey M“,L SAHEGLID; (2) Balch processing system
Choose the correct answer. (b) Real-time operating syatem

te) Embedded operating system

I UNIVAC is an example of

(a) First-generation computer (d) Multiprocessor uperating system

(b} ° Second-generation computer 6.  Which of the following is 089
() Third-generation computer (3%  Windows m)
(d) Fourth-generation computer 2 ] (€) C++ (d) None of thess

Page 2 Code No,: 41221 E
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14.

The spelling option is in — menu of
MBS Word.

fay Edit {(b) Format

(€) View {(d) None of these

To cut any highlighted text in M8 Word document,

press keys.
(a) Ctrl+C (by Ctrl+S
(e} Cte+X (d) Ctel+V

A computer network, which spans over a large
geographical area such as eities, states, countries
or even the whole world is

(a) MAN (b) WAN

(¢} LAN (d) VAN

Which of the following cables supports the highest
bandwidth and fastest transmission rate?

(a) Twisted pair cable

(k) Coaxial cable

(¢} Open wire cable

{d) Fibre optic cable

Page 5 Code No.:41221 E
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13.

14.

PART B — (6 » 5 = 25 marks)

Answer ALL questions choosing either {a) or (b).

()

(b)
(a)

{b)

(a)

(b}

(u}

(b)

Diseuss the characteristics of compurers.

Oy

Write a note on Computer Architecture.

What is a joystick? How is it different [rom a
trackball?

Or
List some advantages and disadvantages of

dot malrix printers.

What is an operating svstem? Hxplain its
functions.

Or
Explain Windows Explorer.

Txplain the uses of Ruler in M8 Werd with
example.

Or

Kxplain the important parts of MS Word
Window.

Page4 Code No.:41221 K
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15. {a) 1hBcuss the various Lransmigsions mode of

data.
Or
(bt  Discoss about Network topelogs.

PART C — (5 x 8 = 40 marks)

Answer ALE questions chaosing either {a) ot (h).

16, {ay Draw a block diagram to illastrate the basic
organiz&tion of a computer Fystem and
explain the functions of varous amits of a

N gomputer ayslen.

Or

(hy Tliseuss varigus compuler generafions,

17, (a) Explan the following :
iy | Dkl L
Gl Zip disk
(i) Floppy dink

(ivy Memory stick.

Ox

(by  Write in devail ahoul input devices.

18.

5

20,

()

(b)

fa)

Bxplain  differenl  t¥pes of Operating
Systems.

Oy
Discuss about Windows Accessories.

Waeite down the steps for copying and moying
a saption of tent 1n S Word.
Ur

Ppumerate the ‘Speilling and Grammur
conicepts in word decument with example.

Write a short notes Gil the following .

(i} LAN
Gy MAN
(i) WAN.
O

Explain Client Server Architecture,

bawe s Code No.: 41221 E
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.

Second Seméster
Computer Science/Software Engineering — Allied
DIGITAL DESIGN
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1= 10 marks)

Answer ALL: questions.

Choose the correct answer :

1. (214), =7
(a) (140),, () (141),

© (142), (d) (130),



Output will be a Low for any case when one or
move inputs are zero is-

(a) OR gate {(b) AND gate
(c) NOT gate (d) NOR gate

The Boolean expression Y =AB is logically

equivalent to —— gate.
(a) NAND (b) NOR
(c) AND (d) OR .

The Associative Lawis A +(B+C)= ———.
(a) AB+ AC () (A+B)+C
(c) A+B+C (d) A(B+C)

Y=AB+AB isa boolean equation for
Gate.

(a) AND () OR
(¢) XOR {d) NOR

The 2's complement representation for —15 is

(a) 00001111  (b) 11110000
(© 11110001 ) 00000001
Page 2 Code No. : 40397 E



10.

- In _JK master — slave flip — flop, while the clock 1s

and the slave

—~, the master 18

is inactive.

(a) Low, inactive (b) High, active
(¢) Low, active (d) High, inactive

A simple flip - flop is —
(a) 2 bit memory

(b) 1bit memory -

(c) afour state device

(d) Nothing to do memory

Tn digital logic, a ‘counter is a device which
(a) Counts the number of outputs

(b) Stores the number of time & particular ev¢
or process has occured

(¢) Counts the number of times & clock pluse ri
and falls.

(d) Counts the number of bits in memory.

What is the clock frequency if the period of
wave form at ripple of counter is 24487

(a) 61 ) 62
(c) 63 (d) 64

‘Page3 Code No. : 403



PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Convert the following
() (11101), to decimal
(i) (32), to Binary
(iii) (43),, to octal
(iv) (16),, to Hexadecimal
(v) (24),, to Hexadecimal

Or

(b) Draw ‘the logic circuit for the following
boolean equation. :

y=ABC + ABC + ABC + ABC

12. (a) Explain sum of products methed with

examples.
e Or
(b) Explain products of sum method with
examples.

Page 4 Code No. : 40397 E
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(b)

1. (a)

(b)

15. &)

(b)

Draw exclusive — OR gates diagram and
Explain with truth table.

"Or

Explain sign — magnitude numbers with 2's
complement arithmetic. Give examples.

What is flip — flop? Explain its uses.
Or

Describe it Types of Registers.

What is decoding Gates? Explain.
Or

How many flip — flops are required to
construct => a mod —128 and a mod —-32
counter. Discuss.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Fach answer should not exceed 600 words.

16. (a)

Describe the basic and Universal Logic Gates
with truth tables.

Or

(b) What are Bihary, Octal and Hexadecimal

numbers? Explain and Give examples.

Page 5 Code No.:40397E
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18.

19,

20.

()

(b)

(@)

(b)

Write the boolean Laws and prove the
theorems. -

Or

Describe how to construct a Karnaugh map?
Give examples for Two, Three and Four
variable maps.

Explain seven ~ segment decoders with
diagram.

Or
Convert each of the following decimal

numbers to an 8 — bit sign — magnitude
number,

(i) +36 i) -97
(iii) ~55 (v) +74

also convert the sing — magnitude numbers in

* to hexadecimal form.

(a)

(b)

(a)

(b)

Explain about JK master slave Flip Flops.
Or . .
Explain (i) RS Flip — Flops
(i1) KEdge Triggered D flip flops.
What is Asynchronous counter? Explain,
Or

Explain about Decade and Presetable
counters. '
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019,

Fourth Semester

Computer Science — Allied
E - COMMERCE

(For those who joined-in July 2017 onwards)
Time : Three hours * Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
- Answer ALL questions.
‘Choose the correct answer :

i ——————— model, business Website is a place
where all transactions take place between a
business organization and consumer directly.

(a) B2B (b) B2C

¢ C2B Ady 020



A —————— i a device that includes an
embedded integrated circuit chip [ICC] that can be
either a micro controller or equivalent intelligence
with internal memory or a memory chip alone.

(a) Smart Cards (b) E-Cheques
(¢) E-Cash ' (d) Cheque
SET means '

(a) Standard Electronic Technology

(b) Standard Electronic Transfer

(¢) Secure Electronic Transaction

(d) State Education T(;le

The power of Internet as a global access was felt
with the introduction of the ——_ip 1994

(a) WWW (b) B2B
) - B2C (d) 20

A ———— Provides a way to associate the
message with the sender and is the equivalent of
ordinary signature

(a) Cyber Signature
(b) Digital Signature
(c) . S8,

(d) Cryptography

Page 2 Code No. : 40605 E



. Which one of the following is not a principle of
e-commerce’

(a) Privacy

(b) Integrity

(c) authentica\tion_
(d) robustness

What are plastic cards the size of a credit card
that contains an embedded chip on which digital
information can be stored?

(a) Customer relationship management system
cards

(o) E-government identify cards
(¢0 FEDI cards ‘

(d) Smart cards

E - Commerce 18 not sﬁitable for

(a) Sale / Purchase of expensive jewellery and
antique

(b) Sale/Purchase of mobile phones
(¢) Sale / Purchase of branded clothes

(d) Online job searching
Page 3 Code No.: 40605 E



9. Which of the following is a method of transaction
money from one person’s account to another
person’s account?

(a) Electronic Cheque
(b) Credit Card

(¢) E -transfer

(d) Debit Card

10. * The Loncept of Electronic cash is to execute
payment by .

(a) Credit Card
(b) ATM Card
(c) Using computers over network
(d) Cheque
PART B 5 (5 x 5= 25 marks)
Answer ALL questions choosing either (a) or (b).
Each answér should not exceed 250 words.

11. (a) Explain the E-Commerce opportumtles for
industries ?

Or
(b) Explain Emergence of the Internet.

Page 4 Code No.:40605 E
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12. (a) Write note on advantages of B2B.
Or .
(b) Write note on Telnet and FTP..
13. (a) Explain about achieving web presence goals.
Or
(b) Write note on E-Advertising.

14, (a) Write note on benefits of an Internet
firewall.

Or

(b) Explain the K-business risk management
1ssues,

15. (a) Explain the features of Credit cards.
Or
(b) Mention the characteristies of E-Cash.
PART C — (5 x 8 = 40 marks)
Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.
16. (a) Describe the classification on E-Commerce,
Or

(b) Write note on Advantages and
Disadvantages of E-Commerce.

Page 5 Code No. : 40605 E



i ey

13.

19

20.

(@)

(b)

(a)

(b)
()

(b)
()

(b)

Explain E-Business models based on the
relationship of transaction parties.

Or
Describe the Business Model.
Explain the features of E-Branding.
Or
Explain the browsing behaviour model.
Discuss the Information System Security.
Or
Explain about Firewall Components.

Explain the online Financial services in
India. :

Or

Mention the advantages of Electronic
payment system.
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U.G. (CBCS) DEGREE EX AMINATION,
APRIL 2013.

Third Scmester
(omputer Science — Non Major Electave
BABIC PRDG'R.:"&MIMHNG DESIGN
(Fox those who joined in July 2017 onWw ards)
Time : ’[‘iwee hours Maximum : 79 marks
PART A — {10 % { = 10 marks)

Answer ALL questions.
Choose the correch ANAWET .
. Flow lines in a flowchart are ased to connect
(@) Two terminals
) Two eonmnectors
(e) Twao inp utfoutput

sav A1V Ehape

9 The diamond — ghape gymbol i the flowchart
signifies. |

() Processing
() Connectors
(o) De‘ci.sinn
(@) Nonecof these
9 Logical exror ocouis due to
(a) Incorrect Byntax
(by Incorrect logic
() Wrong inputs
(dy None of these

4. White box testing 18 also known ag
(a) Glass hox testing
(bhy Fu nctional testing
() Clear box testing
(dy Both (a) and (g)

B COROL and BASIC are the example of
generallon languages, :

{a) First
(b) Second
(¢ Third
(d) Fourth

e ——




I ————TTTeTTTeeeTTTTTTTTTTTTTTTTTTTTTTT T T

0.

e |

The language that truly implements all the
ohiect—oriented features is

(a) O (b
(c) PASCAL {d)}

PROLOG

JAVA

The aszemblv language program is translated into
machine code by a separate program called

{a) Assembler

{b) Interpreter

te) Compiler

(d} Dissembler

Linux operating system is a type of
aoftware,

{a) Shareware

{(b) Freeware

(¢) Commercial

(d) Proprietary

What would you use for immediate, real — time
communication with a friend?

(a) [ -—mail

(by IRC

(¢c) Usenet

(d) A mailing list

Page 3 Code No. : 41400 E
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12,

13

Whaeh of the following is a search engine?

(a)
(k)
(c)
()

()

(k)

(a)

(B)
(a)

(b)

Maeromedia flash

(Google

Netscape

Librariang’ index to the internet

PART B — (6 » 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Define an algorithm. List the properties of a
good algorithm.

Or
What benefits do decision tables nffer over
flowcharts?
Discus briefly the two types of errors.
Explain the wvarious approaches, which
should be followed to correet these grrors.

Oy
Define procedural programming.
Write a short note on the following.
{i) loader
(11) Lainker i

{r
Briefly deseribe the classification of

programming languages.

Page 4 Code No. : 41400 E
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(h)

15, (a)

{h)

What do you understand by the term
‘anflware’?

Or
Write short notes on the following
(1) Freeware
(11) Bhareware
Give the full forms of the following :
fap PR
Giy TCRIP

(i) VoI
(ivi SMTP
() POP

Or
What is telnet? How does 1t work?

PART C — (5 = 8 = 40 marks)

Arnswer ALL gquestions choosing either (a) or {b).

(bl

Discusa the structure of a Aowehart? What
suideliness chould be followed while making
a flowekart?

Or

Bxplain program development eyvile with the
help of a block diagram.

{65

(k)

(@)

(b}

(a)

(k)

(a}

(h)

Kxplain < the characteristics of a good

PrOgEram.

O
Diceuss the varipus aspecls af objoect—

oriented programnung paradigm.

Txplain in detail any 81X popular high—level
language.

(G}
Fxplain the feutures of a good programming
languages.
What is a flimware? What is 1ls importance

in a computer system?

Or
Fxplain the working of a linker and a loader

i the execution of a software program,

What is e—mail? Explain its working with
the help of an example.

Oy

What are search engines? How do they help
the users in  using ipformation on  the
Tnternet?
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019. '

Fourth Semester
Computer Scienéer’Software Engineering — Allied
E-COMMERCE
(.For those who joined in July 2016 only)
Time : Three hours ; Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer .

1. Internet chanunels connecting twa intranets and

secured through cryptography and firewall
techniques are termed as

(a) Protocol

(b) VPN

(¢0 Firmware
(d) Client/Server



Which of the followmg is not a catagory of
ecommerce'?

(a) B2B (® B2C

() B2R (&) B2A

The — is a continuously expanding
large collection of hypertext documents

(a) E-mail by VRL

(¢) HTML d WWW

EDI stands for

(a) Electronic Data Interchange
(b) Electronic Data Information -
(e Enterprisé Data Interchange
(d) Electronic Display Information-

are smart cards that are capable
of storing nmonetary value onto their
microprocessor chip

(a) Electronic purse (b) Electronic cash

(¢) Electronic checks (d) All of the above

The _ is the element that sits
logically between the WAP device and the origin
server

(a) Web browser (by SSL
(¢) WAP gateway (d) WTLS
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10.

DES stands for

'(a) Data Encryption Standard

() Data Encoding Standard
(¢) Digital Encrybtion Standard
() Digital Encoding Standard

Any party involved in an e-cash transaction must
necessarily maintain an account  with

(a) Customer (b) Merchant
(¢) E-mint (d) All the above

alsc a digital token based system

(a) E-cheque (b) E-cash

(¢) E-banking (d) Online banking

GPRS stands for

(a) General Packet Radio Switching
(b) General Protocol Radio Switching
(e Geographical Packet Radio Switching

(d) General Protoco.l.'Ration Switching
Page 3 Code No. : 40399 E
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12.

14.

PART B — (b x 5 = 25 marks)

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)

(a)

(b)
@)

(b)
(a)

(b)

What are the entitics in B2B E-commerce?
Or
What are the benefits of carrying out

business transactions over the intranets and
extranets?

- Explain E-advertising.

Or
Explain software agents.
Define online marketing.
Or
What is the meaning of E-branding?

What is the firewall? Write down the
characteristics and limitations of firewall.

Or

What are the benefits of electronic cheques?
Explain.

Page 4 Code No.:40399 E
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(b)

Explain digital token.
Or

What are the factors that need' to be
addressed in the design of any new
e-payment system? Explain.

PART € — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).

Kach answer should not exceed 600 words.

16. (a)
(L)
LT )
(b)
12 i)
(b)

Discuss the advantages and disadvantages of
E-commerce.

Or
Write about social networking,
Discuss about ISP.
Or
Tixplain
(1) Javascript
(i) XML.
Discuss about internet marketing.
O

Write in details about any one search engine.
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19.

20.

(a)

(b)
(a)

(b)

What are e-business risk management
issues? Explain.

Or
Discuss in details on security services.
Explain the electronic cash system.

Or
What are the type of e-payment? Explain.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.
Sixth Semester

Computer Science/Software Engineering — Main

RELATIONAL DATABASE MANAGEMENT
SYSTEM

(For those who joined in July 2016 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1.  High level Query language used in relational data
base is considered as

(@ SQT (b) SQL
© SQR (d) ODBC



Which of the following commands is used to get all
the column in a table?

(a) # ) *
() % d @

are communicating with the database
through an already written program.

(a) Application programmer
(b) Native user

(¢) Sophisticated user

(d) Specialized user.

The person who has the central control over a
database system is called

(a) Databaseuser  (b) DMA
(c) DBA (d) DAB

is one of the valid record based data
models.

(a) Object Oriented model
(b) Relational model
(c) E—R model
(d) _Network model
Page 2 Code No.:40384 E



The type of constraint ———— specifies data

values that are acceptable in a column.
(a) Default (b) Check
(¢) Primary (d) Not null

combines the data manipulating power
of SQC with the data processing power of
procedural languages.

(2) PL/SQL (b) SQL
(¢) Advanced SQL (d) PQL
is one of the DOL command.
(a) Insert (b) Create
(©) Uinate | (d) Select
is otherwise called as virtual table.
(a) Cursor (b) Assertion

(¢) View (d) Subtable
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10. The set of permitted values of each attribute is

called
(a) Set (b) Attribute
(c) Group : (d) Domain

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (a) Write short notes on Database users.
Or
(b) Discuss about Infelligent Database System.
12. (a) Discuss about Database schema diagram.
Or
(b) Mention the basic structure of SQL Qﬁeries.
13. (a) Write short notes on views.
Or

(b) Discuss about Integrity constraints.

Page4 Code No.:40384 E
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14. (a) Mention the various symbols used in E — R
model.

Or
(b) Discuss about Nested sub Queries.

15. (a) Write short notes on stored procedures.

Or
(b) Discuss about PL/SQL triggers.

PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b)
Each answer should not exceed 600 words.

16. (a) Explain the purpose of Database System.

Or
(b) Write detail notes on Database Architecture.

17. (a) Discuss about the various types of keys.
Or
(b) Explain about the Relational Operations.
18. (a) Write detail notes on set operations.

Or

(b) Discuss about SQL Data types.
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19:

20.

(a) Describe the Entity relationship modeling.
Or

(b) Write detail notes on Data Normalization.

(a) Discuss about the uses of cursors.

Or
(b) Write detail notes on modifying table in SQL.
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16.

17,

19

20.

PART C — (5 % 8 = 40 marks)
Answer ALL gquestions, choosing either (a) or (h).
REuch answer should not exceed 600 words
atatements  with

(a) Discuss gonditional

example.
Or
(b) Explain the following with example
(i)  Nested condition
(iiy Break and continue statemenl.

(a) Discuss user defined Functivns with
example.
Oy
(b) Explain different types of arrays with
example.
(a) Discuss fgets() and fgeted) function with
example.
Or

(b) Dxplain copying and deleting files.

(a) Discuss insertion, updation and deletion of
rows 1n tables.
; Or

(b) Explain joining tables and Set operalors.

(a) Discuss PHP — MySQL datahase connection
process.

Or

(b) Write a PITP program to demonstrate error
handling process.

Page 4 Code No. : 41397 E
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B.Se. (CBCS) DEGREE EXAMINATION,
APRIL 2019,

Third Semester

Computer Science

Skill Based Subject —PROGRAMMING WITH PHP
AND MYSQL

(For those who jomned in July 2017 onwards)

Time : Three hours Maximum ; 76 marks
PART A — (10 x 1 = 10 marks)
Answer ALL guestions.

(Choose the correct answer !

|.  Theoutput from PHP 18 —
(a) Statically generated

(b Dynamically generated
(¢) Not generated
(d) Nooutpul

o The — statement will execute a block
of code at least onee.
(a) While (b) For
(c} Switch (d) Do... while



:--'I

An array with strings as indexig————
(a) Numeric Array

(b) String Array

(¢) Associative Array

(d) None of the ahove

are text files stored on the clhient

computer and they are kept of use tracking
purpose. '

() Cookies () Bessions
() Array (dy None.of the above

The second parameter of fread( ) contains.
(a) File mode

(by File name

() Minimum number of bytes to read
(@) Maximum number of bytes to read

If open is unable to open the file, it returns

(a) =1 (b) O

(c) False (d) None of the above
Use keyword is used to aelect a -
(a) Column (b) Row

(¢) Table (dy Database

Which one of the following method 18 uged to
retrieve the number of rows affected by an
INSERT, UPDATE, or DELETE query?

(a) Num_rows{ ) (b) (‘hanged_rows ()
(c) Affected_rows( ) (d) None of Lthe above

Page 2 Code No. : 41397 E
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11.

13.

14.

15.

If there ig no error, then what will the error()

returns?

(a) True (by Talse

ey o (@) Empty String

jlow much storage Space doss DATETIME
require’?

{a) 1 bytes (b) 2 bytes

(¢) 4 bytes (dy 8 bytes

PARTB— (B x5=23 marks)

Answer ALL guestions, choosing either (a) ox {b}.
Tach answer should not exceed 260 words

(a}

(b)
(a)

(1)
(a)

(h)
(a)

(b)
(a)

®)

Explain variables in PHP.
Or

Fxplain for statement with example.

What is array? How 1t is processed?
Oy

Write a note on caokies.

Write a PHP program to create a file.
Ox

Explain fscant() with example.

Explain creating and manpulating tables 1n
MYSQL.
Or

Write a note on data manipulation functions.

Explain processing resilt sets of queries.

Or
Explain the procedure Lo validate the mmpul.
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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2019.
Sixth Semester
Computer Science/Software Engineering — Main
Major Elective — INTERNET OF THINGS
(For those who joined in July 2016 only)
Time : Three hours Maximum : 75 marks
PART A — (10 % 1 = 10 marks)

Answer ALL questions.

Choose the correct answer.

1. Which protocol is used to link all the devices in the
loT? : '

(a) TCP/IP ; (b) Network
ey 1DP td)  HTTP



WSN stands for
(a8) Wired Sengor Network
(b) Wireless Sensor Network
(¢)  Wired Serv@ce- Netwofk

(d) Wireless Service Network

Which approach is used in ToT architecture?
(a) Tép down approach

(b)  Bottom up approach

() Top down and Bottom Up

(d) Neither Top down nor bottom up

In SOA, Service is termed ag
(@) Software service
(b)  Network service
(¢) Business service

(d) De#eldper service

The analog signal is e in —
(a) Continuous,. frequency

(b) Continuous, time

. (c) Discrete, frequency

{d) Discrete, time
Page 2 Code No. : 40395 E
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laas stands for

() Infrastructure as a service
(b) infrastructure ag a software
(¢) Internetasa service

(d) Internetasa software

UML stands for —.

-(a) User Modeling Language

(b)  User Module Language
(¢)  Unified Modeling Language
(d) Unified Module Language

What is 11oT

(a) ,Inforrﬂation Internet of Thing
(b) Industrial Internet of Thing
(¢) Innovative Internet of Thing
(d) None of the above

What is the role of communication protocol in IoT?

(a) Smart cities

- (b)  Cyber physical system

(¢) Mac Tayer issue

(d) Managing energy
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10,

11

12.

13.

Publish command message is sent * from

(a)
(b)
(©
(d)

Only publisher to broker
Only broker to publisher
Publisher to broker and broker to publisher

Server to client

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing eii_:her (a) or (b).

Each answer should not exceed 250 words.

(a)

(b)
(a)

(b)
(2)

(b)-

Write short notes on components of M2M
system solutions.,

] Or
What is [oT? Explain.

Write short notes on Global value chain.

Or

What is reference architecture? Explain.

Explaih the properties by which the devices
can be characterized.

Qr

What is Bigdata? Explain with its
characteristics.
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(b)

Write short notes ETPSI M2ZM service
capability.

Or

What is resource descriptor in IoT
information model? Explain.

What is functional group? Explain [oT
service functional group.

Or
Write short notes on informatien handling.

PART C

(b X 8 = 40 marks)

Answer ALL quéstions, choosing either (a) or (b).

Each answer should not exceed 600 words.

k6. (e
(b)
17 A=)
(b)

What is game changer? Hxplain their
relationship to IoT with example.

Or
Explain the COMPArisons of main

characteristics of M2M and ToT.

Txplain Information Driven value chain for
IoT briefly.
Or

P]S(pl.ain the design prinbip]e of FoT
architecture,
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18.

14

20.

(a)

(b)

()

(b)
(a)

(b)

Explain briefly how to manage M2M data.
Or

Explain knowledge reference architecture for
M2M and IoT:.

“xplain ETST M2M high level architecture.
Or

Explain the IoT domain model briefly.

Explain virtual entity functional group of IoT
functional model.

Or

Explain the technical design constraints for
developing and implementing M2M and IoT
solution in the real world.

I)age.ﬁ Code No. : 40395 E



(6 pages) Reg, INO. 5 oo

Code No. : 40386 I£ Sub. Code : JMCS 64/
' JMSE 64

B.Sc. (CBCS) DEGREE EXAMINATION,
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Sixth Semester
Computer Science/Software lEngineering -— Main
DATA MINING
(For those who joired in July 2016 onwards)
Time : Three hours Maxi;num : 756 marks
PART A — (10 x 1= 10 marks)
Answer ALL questions.

. Choose the correct answer :

1. ———— is useful when the classes in the
data are not already known and the training data
1s not available

(a) Association rule mining
(b) Clasgsification

{¢) Cluster Analysis

(d) Web data mining



—— has data mining software called

knowledge STUDIO

(a) Angoss (h) . Minesct

(¢) Mentas _ (d) Data Miner
Another name for association rule mining is
(a) -Relationship marketing

(b) Justomer profiling

(¢) Customer segmentation

(d) Market basket analysis

Confidence of X =Y is

(g)  BlXO¥)iPixy (b PIY)/PX)

CeE R N i)y Wy BAOIPX YY)

1

The ——— method requires a training set
and a test set

(a) Holdout
(b) Random Sub-Sampling
(¢c) Leave — one — out

(d) Bootstrap
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10.

is a simple Naive Bayes classifier

software.

(a) SMILES () 45

(© CART5.0 @ NBC

In ——— —— the classes are not pre defined
(a) “lassification (b) Regression

(¢) Clustering (@) Association Rules

_methods obtain a nested partition of
the objects resulting 1n a tree of clusters

(a) Partitional (o) Hierarchical

(¢) Density-based (d) Grid—based
Copying an entire website 15 called e
(a) Replication (b) Mirroring

() Sample _ (d) DPattern

A Cyber-Community may be a collection of web
pages that form a

(a) - Complete graph  (b) Connected graph

(¢) Bipartite graph () ‘yelic graph
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PART B.— (5 x 5 = 25 marks) _

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 250 words.

Bl

(b)
L2 )
(b)
s ia)
(b)

Explain the future of Data mining.
Or
Explain the following Data mining software
(1) Mineset
(1) Miningmart
(i1i) Oracle
Write a note on Apriori—TID.
Or
Iixplain the performance Evaluation of
Algorithms.

Write about building a decision tree using
the tree induction algorithm. :

Or
Write about improving accuracy of

classification methods.
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14, (a) Write about computing distance in Cluster
; Analysis.

Or

(b) - Explain the following cluster analysis
software.

(1)  Autoclass
(i1) Cluste_r 3.0

(iii) CViZ Cluster Visualization

15. (a) Define some of the web terminology based on
the work of world wide wEB construction.

Or
(b) Write about Finger printing.
PART C — (5 x'8 = 40 marks)
Answer ALL questions cnooging either (a) or (b).
Each answer should not e’xceed 600 words.
16. (a) Explain the Data mining process.
| Or
(b) List and explain Data mining Applications.
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18.

19,

20.

(a)

(b)

(a)

(b)

(a)

")

(a)

(b)

Write in detail about improving the
efficiency of the Apriori Algorithm. _

Or
Write a note on mining frequent patterns

without candidate generation (FP-Growth).

Write a note on estimating predictive
accuracy of classification methods.

Or

Discuss in detail on other Evaluation
Criteria for classification methods.

List and explain the desired features of
cluster Analysis.

Or

Write about dealing with large databases.

Discuss about Locality and Hierarchy in the
Web. :

Or

Write an elaborate note on web usage
mining,
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